B4 ERHPEREEGRR/

et EXO0

b —

SE _RBHEIE--E5: 3F ((K&KEE:3F->3F)

PNA21-01-#&/8: 3F , #£4t5%: C33, L&/ 35 [X7:-15,Y13:+225] R~: 90 cm * 80 cm , #£5;: 380.0 cm

#8 FHA(E1HE-—REE): (380+0)*18/100 68.40
| FH+HEE(Lg)(FBE
[#E#=0])
#4 SV - £ T iR 5\ = (5 2)= (90+80)*2-8%4+2*13.89=335.8 53.72
g L+ THEEIE= Int(((380-70)/2)/10.0)+1=16
+ T4 K= 335.8%16/100=53.72 M
#4 SN - R 5\ E (5 2)= (90+80)*2-8%4+2*13.89=335.8 36.94
g rh SR 5B B8= Int(((380-70)/2)/15.0)+1=11
th R fERE R = 335.8%11/100=36.94 M
#4 SN - 5\ (5 2)= (90+80)*2-8%4+2*13.89=335.8 23.50
E; (Int(70/10))*335.8/100=23.50 M
BHEHRE-KFER,E | XOKF)AEEFRIE)= (90-2 [{RERE]4+2*[135F & £4]13.9)
< A *2=219.6 ]
Y(ZEE)ARE(FH)= (80-2*[{REB]4+2*[135F #4$4]13.9)
*2=199.6
#4 BE5-E T % #4 & T imBEk= Int(((380-70)/2)/10.0)+1=16 67.1
</ F ik R= (219.6+199.6)*16/100=67.1 M
#4 Bin-rp i #4h R IHE 2= Int(((380-70)/2)/15.0)+1=11 46.1
<7 rhRif#E K= (219.6+199.6)*11/100=46.1 M
#4 BH-RERE HARBZEHER=(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3

R (E1)16-#8 (FH2)X-#X

ARBHIH:(HR1)18-#8 (FH2)X-#X

1EERE(1)40:8-8*16%

BIEBREQ)ME:8-T2X

BRETE:

F#HR:(90+80)*2*380/10000=12.92 M2

FEARE AR MO RR:
%:158:-(G32) 50*70/10000=0.35
%:258:-(B22) 45*60/10000=0.27
%:358:-(G33) 60*60/10000=0.36
Ll E/VEH:0.98 M2

FERRE AR M A0 BR:
%:2i%:40.00%16/10000=0.0640
%:3i%:30.00%16/10000=0.0480
%:4i%:40.00%16/10000=0.0640
L E/VEH:0.1760 M2

FERE E AR M0 BR:
E IS 1(FRE)-:G33=15%(380-60)/10000=0.48
E IS 2(FRE)-:G32=15%(130-70)/10000=0.09
KL E/NEE:0.57 M2

FEhR AR ET:12.92-[FE B3 $£]0.98-[#F hR 32 $£]0. 18- [4E 15 38 $%]0.57=11.19 M2

RC:tH&E:
90*80*380/1000000= 2.736 M3

Mt EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=68.400 M (68.400 M*3.980/1000= 0.2722 T)
$ARR/INET = 0.5274 T
BAR/NVEH(E) = 11.19 M2
SR /NET = 2.736 M3

PNA21-01-#€f&: 3F , #£4K5%: C35, fLE 5% 37 [X7:-15,Y16:-135] R~F: 90 cm * 80 cm , #7&: 380.0 cm
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#10 F (5 14R-—HEB): (380+0)*16/100 60.80
| T H+EE(Lg)(HEHE
[#&#%=0])
#4 SV - £ T i 5\ (F %)= (90+80)*2-8%4+2*13.89=335.8 53.72
g T E= Int(((380-70)/2)/10.0)+1=16
F T K= 335.816/100=53.72 M
#4 SME - R SR E(H )= (90+80)*2-8*4+2*13.89=335.8 36.94
g rh e 28= Int(((380-70)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 VAS il R 55 R BE ()= (90+80)*2-8*4+2%13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
BHEFER-KTERE | XOKE)AEEFGRIE)= (90-2*[{RERB]14+2*[135EF E$7]13.9)
</ [EE *2=219.6 ]
Y(EE)ERE(FBE)= (80-2* [{R#[B14+2*[135F £ £4]13.9)
*2=199.6
#4 Bip-LTim #4 E T ixE 2= Int(((380-70)/2)/10.0)+1=16 67.1
</ TR R= (219.6+199.6)*16/100=67.1 M
#4 BE-hRim #4rh IR EIEL= Int(((380-70)/2)/15.0)+1=11 46.1
</ th JifkiE R = (219.6+199.6)*11/100=46.1 M
#4 BE-BREE HARZ ERE R =(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3

RSt R:

EEERH:(HR1)16-#8 (FH2)X-#X
ABEEF:(FE1)16-#10 ($H2)X-#X
IR (1)1:10-8"163

BhRETE:

F 1% hr:(90+80)*2*380/10000=12.92 M2

HEEEAR RO

%:158:-(B23) 45*60/10000=0.27
2:258:-(G38) 50*70/10000=0.35
#:358:-(G39) 60*60/10000=0.36
LLE/VET:0.98 M2

MR AR MR O PR

%:158:30.00*16/10000=0.0480
%5:25%:40.00*16/10000=0.0640
%5:35%:80.00*16/10000=0.1280
%5:45%:40.00*16/10000=0.0640
LL_E/VET:0.3040 M2

RS E AR RO PR:

1 (MR )--CS=15*(380-16)/10000=0.55
2B K )-:CS=15*(380-16)/10000=0.55
I3 (KK )-:B23=15*(380-60)/10000=0.48
LLE/INEH1.57 M2
R AEET:12.92-[#F 23 $£]0.98-[4E hi 32 $£10.30-[4E 5 3 £11.57=10.06 M2

RC:tH&E:

90*80*380/1000000= 2.736 M3

MEETEER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)

$MRR/INET = 0.6436 T

HBAR/NET(E) = 10.06 M2

RAELT/INET = 2.736 M3

PNA21-01-t#£&: 3F , #£4K5%: C34, S 35k 36 [X7:-15,Y14:+245] R~t: 90 cm * 80 cm , #7&5: 380.0 cm

U

#3 EH(EE-—RE): (380+0)*18/100 68.40
| T+ E(Lg)(1EE
[##£=0])
SNERS- LT SR (H )= (90+80)"2-8*4+2+13.89=335.8 53.72

+ THERE2= Int(((380-70)/2)/10.0)+1=16
L FHE# K= 335.816/100=53.72 M
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#4 SMER-H R SR EE (5 72)= (90+80)*2-8*4+2*13.89=335.8 36.94
@ rh 5 B8= Int(((380-70)/2)/15.0)+1=11
th R fE4E K= 335.8%11/100=36.94 M
#4 VAS il e sMERE(H )= (90+80)*2-8*4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BHEHGR-KFERE | XOKF)AREFRE)= (90-2 [(RERB4+2*[135EF & £4]13.9)
<7 EM *2=219.6 ]
Y(EE)ARE )= (80-2 R EB]4+2*[135F & $7]13.9)
*2=199.6
#4 B - LT #4_E T B $= Int(((380-70)/2)/10.0)+1=16 67.1
</ Tk K= (219.6+199.6)*16/100=67.1 M
#4 BE-PRin #4rh R B EE= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th JifkiE R = (219.6+199.6)*11/100=46.1 M
#4 BH-BERE #ARZ B FE=(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
fEESTE:

R 1)16-#8 (FH2)X-#X
ABREH:(FE1)18-#8 (FH2)X-#X
{EHERS5E(1)48:8-8* 16
{EERE(2)#E:8-T2%

RhREtH:

F 1 hR:(90+80)*2*380/10000=12.92 M2

FERGE AR RO RR:

%:158:-(B22) 45*60/10000=0.27
5:2i%:-(G35) 50*70/10000=0.35
%5:3i2:-(B23) 45*60/10000=0.27
%:4;2:-(G36) 60*60/10000=0.36
KL E/NE:1.25 M2

FERE BEAR RO BR:

%5:1i£:30.00*16/10000=0.0480
£8:2i%:40.00*16/10000=0.0640
£5:3i£:30.00*16/10000=0.0480
%5:4i%:40.00*16/10000=0.0640
LLE/vEt:0.2240 M2

RS E AR RO RR:

EIENE 1 (B E)--B23=15*(380-60)/10000=0.48
EIENE 2(BE)--B22=15*(380-60)/10000=0.48
KL E/NVET:0.96 M2
AR AR ST 12.92-[#F R 3 HE]1.25-[FE R XX $%]0.22-[#E 15 3 $£]0.96=10.49 M2

RCEH&E:

90*80*380/1000000= 2.736 M3

MEET SR

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=68.400 M (68.400 M*3.980/1000= 0.2722 T)

SMAR/INET = 0.5274 T

BRR/NET(E) = 10.49 M2

EREL /NG =2.736 M3

PNA21-01-#&/8: 3F , #:4t5%: C35, B RFk:

42 [X9:+155,Y16:-135] R~: 90 cm * 80 cm , #£5&: 380.0 cm

#10 EH(E1A-—ARRE): (380+0)*16/100 60.80
| FH+EiE(Lg)(HEHE
[#E#=0])
#4 SV - £ T iR 5\ (5 2)= (90+80)*2-8%4+2*13.89=335.8 53.72
@ L+ THEEIE= Int(((380-70)/2)/10.0)+1=16
+ T4 K= 335.8*16/100=53.72 M
#4 SN - R 5\ (5 2)= (90+80)*2-8%4+2*13.89=335.8 36.94
@ rh SR 5B B8= Int(((380-70)/2)/15.0)+1=11
PR fERE R = 335.8%11/100=36.94 M
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#4 SRR SR ()= (90+80)*2-8*4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BmEBERR-KER,E XOKFE) R E(HHAE)= (90-2*[{R#B]4+2*[135E & $7]13.9)
< B *2=219.6 )
Y(BE)EERE(H )= (80-2* IR HEB4+2*[1355 E£4]13.9)
*2=199.6
#4 B Tk #4 1 T 85 B 2= Int(((380-70)/2)/10.0)+1=16 67.1
<2 LT E= (219.6+199.6)*16/100=67.1 M
#4 B-rh R #4th R IHE = Int(((380-70)/2)/15.0)+1=11 46.1
<7 R 48 K = (219.6+199.6)*11/100=46.1 M
#4 BEH-BEE HARF EHE=(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
FEEHE

EBA TS (481)16-#8 ($B2)X-#X
ABAEE:(181)16-#10 (FA2)X-#X
BIE225(1)%0:10-8*16%

BhREHH:

F % hr:(90+80)*2*380/10000=12.92 M2

HEEERAR MO

%:158:-(B25) 45*60/10000=0.27
%:25%:-(G37) 50*70/10000=0.35
%:35%:-(G38) 50*70/10000=0.35
Ll E/NE:0.97 M2

HERRE AR b 0 PR

%:15%:30.00*16/10000=0.0480
%5:25%:40.00*16/10000=0.0640
%:35%:80.00*16/10000=0.1280
%:45%:40.00*16/10000=0.0640
LL_E/VET:0.3040 M2

RSB R AR M O PR

E S 1(MUE)-:CS=15*(380-16)/10000=0.55

)_
EEE2(RE)-
EEiE3(RE)-

)_

:CS=15%*(380-16)/10000=0.55
:G38=15%(380-70)/10000=0.47

4 (KK )-:B25=15%(380-60)/10000=0.48
LLE/NE:2.04 M2
AR AEET:12.92- [ 3 $£]0.97-[#F i 32 $£]0. 30-[#1 5 32 $%]2.04=9.61 M2

RCEHE:

90*80*380/1000000= 2.736 M3

MArEt HAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)

$MER/INET =0.6436 T
BAR/EH(E) = 9.61 M2
R /NGt = 2.736 M3

PNA21-01-#8&: 3F , 4 K5 C32, M EFk:

48 [X10:-175,Y16:-135] R~F: 90 cm * 80 cm , #¥&: 380.0 cm

#8 FER(E1HE-—REB): (380+0)*16/100 60.80
| I+ (Lg) (B
[#&8#£=0])
#4 SMERR-L T i SMERE(H )= (90+80)*2-8*4+2*13.89=335.8 53.72
g + THERE2= Int(((380-70)/2)/10.0)+1=16
+ FHE# K= 335.816/100=53.72 M
#4 SV - R SMERE(H )= (90+80)*2-8*4+2*13.89=335.8 36.94
g th G 28= Int(((380-70)/2)/15.0)+1=11
th R fERE K= 335.8*11/100=36.94 M
#4 ST - SMERE(H )= (90+80)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
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EmEBERR-KER,E XOKFE)ERE(HHAE)= (90-2*[{R#B]4+2*[135E & $7]13.9)
< B *2=219.6 )
Y(BE)EERE(HHAE)= (80-2* IR HEB4+2*[1355 E£4]13.9)
*2=199.6
#4 BE- Tk #4 & T 85 B 2= Int(((380-70)/2)/10.0)+1=16 67.1
<2 LT E= (219.6+199.6)*16/100=67.1 M
#4 B-rh i #4th R IHE = Int(((380-70)/2)/15.0)+1=11 46.1
<7 R 48 K = (219.6+199.6)*11/100=46.1 M
#4 BE-BEE HARFEHE=(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
FEEHE

EBA TS (481)16-#8 ($B2)X-#X
ABAEE:(101)16-#8 ($82)X-#X
1EIE285E(1)58:8-8*16%%

BhREHE:

F 1 hR:(90+80)*2*380/10000=12.92 M2

HEERAR MO

55:1i8:-(B27) 45*60/10000=0.27
%:25%:-(G37) 50*70/10000=0.35
Ll E/NET:0.62 M2

HEMRE AR R 0 PR:

%:15%:30.00*16/10000=0.0480
%:35%:80.00*16/10000=0.1280
%:45%:40.00*16/10000=0.0640
LL_E/VET:0.2400 M2

RSB R AR MR O PR
B (RE
EIEIE2(MUE
EEE3(hRE
B ARE

~— ~— ~— ~—

LLE/INEH:2.04 M2
AR RS 12.92-[#F#R 3 $5]0.62-[#E MR 32 $%]0.24-[#E #5 3 $£]2.04=10.02 M2

RCEHE:

90*80*380/1000000= 2.736 M3

MArEt HAER:

-:B27=15%(380-60)/10000=0.48
-:CS=15%(380-16)/10000=0.55
-:CS=15%(380-16)/10000=0.55
-:G37=15%(380-70)/10000=0.47

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

SMER/INET =04971 T

BAR/NET(E) = 10.02 M2

B /e =2.736 M3

PNA21-01-#8f8: 3F , #{L5%: C35, (B Fok:

40 [X9:+155,Y13:+225] R~: 90 cm * 80 cm , & 380.0 cm

#10 EHH(E14A-—ARE): (380+0)*16/100 60.80
| E+ERE(Lg) (1B
[#&$£=0])
#4 S\ A5 - £ T i sMER B (B )= (90+80)*2-8*4+2*13.89=335.8 53.72
g T HEBIE= Int(((380-70)/2)/10.0)+1=16
I T K= 335.816/100=53.72 M
#4 HME - R sMER B ()= (90+80)*2-8*4+2*13.89=335.8 36.94
g o SRR EE= Int(((380-70)/2)/15.0)+1=11
th R fERE K= 335.8*11/100=36.94 M
#4 SME - s\ER B ()= (90+80)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
BHBEHER-KERE | XOKE)AEEGRIE)= (90-2*[{R#E]14+2*[135E & 4£7]13.9)
</ Em[ *2=219.6 .
Y(EE)EREE(HBE)= (80-2*[{R#[B14+2*[135 & £4]13.9)
*2=199.6
#4 Bi5-ETig #4 - T iRE 8= Int(((380-70)/2)/10.0)+1=16 67.1
</ E TR R= (219.6+199.6)*16/100=67.1 M
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#4 BEHG-th R #4mh SRBHEBI= Int(((380-70)/2)/15.0)+1=11 46.1
</ L% R = (219.6+199.6)*11/100=46.1 M
#4 Bi-REE HARR B EHE R =(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
EERLE.
LEEEHR1)1645 (1H2)CHX
RERTH:(1)16-#10 (H2)X-#X
BIEIREE(1)4H:10-8* 6§
EARETE:
F 1% R:(90+80)*2*380/10000=12.92 M2
MR E RO

%:1i8:-(G31) 50*70/10000=0.35
%:258:-(B24) 45*60/10000=0.27
%:3i8:-(G32) 50*70/10000=0.35
Ll E/INEH0.97 M2
FERGEEE MO
5:2i%:40.00*16/10000=0.0640
5:3:%:30.00*16/10000=0.0480
5:438:40.00*16/10000=0.0640
Ll E/NEH0.1760 M2
R E A MO
1 (B orEZE):=15%(120-0)/10000=0.18
2 (3 BorBZ2):=15%(130-0)/10000=0.20
Ll E/NEH0.38 M2
ﬁm%rﬁé?m2.92-[*11»;7.23?;§]0.97-[$1H&§¥§]0.18-[&;1*“1%]0 .38=11.40 M2
RCEtHE:
90*80*380/1000000= 2.736 M3
-------------- HHEER N
SERETEAE R
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)
$MER/INET =0.6436 T
BAR/NEH(E) = 11.40 M2
Es /et =2.736 M3

PNA21-01-#£&: 3F , #£8%: C34, RiBF5E: 41 [X9:+155,Y14:+245] R~F: 90 cm * 80 cm , 4 5: 380.0 cm

#8 FHh(E1HR-—REB): (380+0)*18/100 68.40
| T+ (L) (%
[#E#=0))
#4 sMER- £ T i SV R EE (B )= (90+80)*2-8*4+2*13.89=335.8 53.72
g T = Int(((380-70)/2)/10.0)+1=16
L+ TiE#ER= 335.8*16/100=53.72 M
#4 SME - R SV R EE(H5)= (90+80)*2-8*4+2*13.89=335.8 36.94
g rh J 5 B 4= Int(((380-70)/2)/15.0)+1=11
rhRfE#E K= 335.8*11/100=36.94 M
#4 SMER- B SV R EE(H5)= (90+80)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
BHEHRE-KERE | XOKP)AEEF )= (90-2*[{RERE]4+2*[135E E4$7]13.9)
<2 EM *2=219.6 )
Y(EE)EREE(HT)= (80-2*[{R#[B14+2*[135EE & £4]13.9)
*2=199.6
#4 B5- LT #4_F TR 8= Int(((380-70)/2)/10.0)+1=16 67.1
</ ETFin#ER= (219.6+199.6)*16/100=67.1 M
#4 SR M- R IR #4th i Bh= Int(((380-70)/2)/15.0)+1=11 46.1
<7 hRiEHER = (219.6+199.6)*11/100=46.1 M
#4 BhHh-RERE HARF [EHER=(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
BERTE

BRI (H1)16-#8 (H2)X-#X
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ABHETH:(HH1)18-#8 (FH2)X-#X

TEHESR5(1)4:8-8*16%%
{EEBRE(2)#E:8- T2

RhREtH:

F 1 kR:(90+80)*2*380/10000=12.92 M2

FERGE AR AR OFR:

%5:1i8:-(B24) 45*60/10000=0.27

%:2i8:-(G34) 5

0*70/10000=0.35

%5:3i&:-(B25) 45*60/10000=0.27

%:458:-(G35) 5

0*70/10000=0.35

KL E/NEH:1.24 M2

FERE BEAR AR O BR:

%5:1i£:30.00*16/10000=0.0480
25:2i%:40.00*16/10000=0.0640
£5:3i£:30.00*16/10000=0.0480
%5:4i%:40.00*16/10000=0.0640
Ll E/VET:0.2240 M2

FEHSE AR RO BR:

EIENE 1 (B E)--B25=15%*(380-60)/10000=0.48
EIENE 2(BE)--B24=15*(380-60)/10000=0.48
KL E/NVET:0.96 M2
AR AEET:12.92-[#F R 3 HE]1.24-[#E R XX $5]0.22-[#E 153 $£]0.96=10.50 M2

RCitH&E:

90*80*380/1000000= 2.736 M3

AT EER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=68.400 M (68.400 M*3.980/1000= 0.2722 T)

SMAR/INET = 0.5274 T

RAR/INVET(E) = 10.50 M2

R /NEr =2.736 M3

PNA21-01-#&/8: 3F , #4t5%: C32, B RFk:

46 [X10:-175,Y13:+225] R~t: 90 cm * 80 cm , 3 &: 380.0 cm

#8 EH(E14A-—ARRE): (380+0)*16/100 60.80
| T+ (Lg) (%
[##=0])
#4 SV - £ T iR 5\ E (5 2)= (90+80)*2-8%4+2*13.89=335.8 53.72
E; £ T HEE = Int(((380-70)/2)/10.0)+1=16
£ FiEfE K= 335.816/100=53.72 M
#4 HMIE - R 55 R EE ()= (90+80)*2-8*4+2*13.89=335.8 36.94
E; rh SR 5B B8= Int(((380-70)/2)/15.0)+1=11
R fERE R = 335.8%11/100=36.94 M
#4 SRR s B R EE ()= (90+80)*2-8*4+2*13.89=335.8 23.50
E; (Int(70/10))*335.8/100=23.50 M
BHEHER-KTERE | XOKFE)RREFRE)= (90-2* [{RERE]4+2*[135E E]13.9)
< B *2=219.6 .
Y(EE)FEE(HHAE)= (80-2 [{REB14+2*[135E & £7]13.9)
*2=199.6
#4 Bi5- LT #4 & T i B Ek= Int(((380-70)/2)/10.0)+1=16 67.1
< L FimfER= (219.6+199.6)*16/100=67.1 M
#4 SR W-h R % #4th LI B= Int(((380-70)/2)/15.0)+1=11 46.1
<7 rhRif#E K= (219.6+199.6)*11/100=46.1 M
#4 BH-RERE HAR B EHERK=(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3

RS R

EEEEH:(RE1)16-#8 (#H2)X-#X
AREMETH:(FH1)16-#8 (FH2)X-#X

{EE255(1)48:8-8%16
AR &

53

FHEHR:(90+80)*2*380/10000=12.92 M2

HEEEAR RO

%:1;8:-(B26) 45*60/10000=0.27
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%:25%:-(G31) 50*70/10000=0.35
LLE/NET:0.62 M2
FERRE IR IR IR
%:3i%:30.00%16/10000=0.0480
%:43%:40.00%16/10000=0.0640
LL_E/VEH:0.1120 M2
NS BRI
EREE:1(FE SorE ZE):=15%(10-0)/10000=0.02
E RS2 (B E)-:G31=15%(120-70)/10000=0.08
LL_E/NEF:0.09 M2
$§HJ:2+%§:“+ 12.92-[#F 23 $#£]0.62-[#F AR 3 $£]0.11-[#F 48 3 $£]0.09=12.10 M2
RCE
90*80*380/1000000= 2.736 M3
-------------- R R 0] N —
st EHR:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
MAER/NET = 04971 T
BAR/NEH(E) = 12.10 M2
R /ET = 2.736 M3

PNA21-01-#&/8: 3F , #:1t5%: C36, fIiER3%: 47 [X10:-175,Y14:+245] R~F: 90 cm * 80 cm , #£5: 380.0 cm

#8 F (5 14R-—HEB): (380+0)*18/100 68.40
| T+ EE(Lg) (B
[#&#%=0])
#4 SMER- L T i 5\ 5 R BE(H5)= (90+80)*2-8*4+2*13.89=335.8 53.72
@ T = Int(((380-70)/2)/10.0)+1=16
T K= 335.816/100=53.72 M
#4 SN - R 5\ (F5 %)= (90+80)*2-8*4+2*13.89=335.8 36.94
B rh S 8k= Int(((380-70)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 SMERR-BRE 5\ iE R BE(H2)= (90+80)*2-8*4+2*13.89=335.8 23.50
B (Int(70/10))*335.8/100=23.50 M
BHEHREKFEME | XOKF)MEEFHRIE)= (90-2 [{RERE]4+2*[135E & £]13.9)
<7 EM *2=219.6 _
Y(EE)ARE )= (80-2 R #B]4+2* (135 $7]13.9)
*2=199.6
#4 B - £ T #4_F TR E 8= Int(((380-70)/2)/10.0)+1=16 67.1
<2 F i R= (219.6+199.6)*16/100=67.1 M
#4 BE-PRim #4rh IR B EL= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th JRifiE R = (219.6+199.6)*11/100=46.1 M
#4 BH-BERE #ABRF B FE=(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
BERHE:

LEEFTE:(E1)16-#8 (FH2)X-#X
RBAEE 5 (H1)18-#8 (#A2)XHX
BiE335E(1)4:8-8*16%
BERE(Q)ME:8-T2X
BhARETE:
F#EhR:(90+80)*2*380/10000=12.92 M2
AR E AR RO RR:
%:158:-(B26) 45*60/10000=0.27
55:2i%:-(B27) 45*60/10000=0.27
%5:3i%:-(G34) 50*70/10000=0.35
LAk /NEF:0.89 M2
FERRE AR R A0 BR:
%£:178:30.00*16/10000=0.0480
££:32:30.00*16/10000=0.0480
%£:48:40.00*16/10000=0.0640
LA E/NET:0.1600 M2
NS E AR R A0 B
B 1(BE)-:B27=15*(380-60)/10000=0.48
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E RIS 2(FRK)--B26=15%(380-60)/10000=0.48
KL E/VET:0.96 M2
$§Hls‘z+{h§:§+:12.92—[&*%‘1&?%]0.89-[*IHJ§§#§]0.16-[*1#%3«*#%]0.96:10.91 M2
RCEH&E:
90*80*380/1000000= 2.736 M3

At EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=68.400 M (68.400 M*3.980/1000= 0.2722 T)
$AER/INET = 05274 T
BAR/MEH(E) = 10.91 M2
R /NET = 2.736 M3

PNA21-01-#&/8: 3F , #4t5%: C20, RIEFF5R: 54 [X13:+221,Y5:-156] R~F: 90 cm * 80 cm , 45 380.0 cm

#8 x (5 14R-—HEB): (380+0)*16/100 60.80
| g (Lo (B
[#&#=0])
#4 SV - £ T i 55 (F52)= (90+80)*2-8*4+2*13.89=335.8 53.72
@ T = Int(((380-70)/2)/10.0)+1=16
F T K= 335.816/100=53.72 M
#4 SME - R SR E(H )= (90+80)*2-8*4+2*13.89=335.8 36.94
@ rh 4 2k= Int(((380-70)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 SMER-RE 5\ RE(HH2)= (90+80)*2-8*4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BHBEHGR-KFERE | XOKF)AREFRE)= (90-2 [(RERB4+2*[135E & £]13.9)
</ E[A *2=219.6 ]
Y(EE)AREHRHE)= (80-2[REB4+2 135 E$]13.9)
*2=199.6
#4 Bip-LTim #4 £ T ixE28= Int(((380-70)/2)/10.0)+1=16 67.1
</ L+ Fif#ER= (219.6+199.6)*16/100=67.1 M
#4 BE-hRim #4rh IR EIEL= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th QiR = (219.6+199.6)*11/100=46.1 M
#4 B-REE #ARF B FE=(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
EEHRTE:

R ER1)16-#8 (FH2)X-#X

RERTE:(H1)16-#8 (FH2)X-#X

BI85 (1)40:8-8*16%%

EhRET &

F 1% 4R:(90+80)*2*380/10000=12.92 M2

R EEEMR IR
%:1i8:-(B13) 45*70/10000=0.32
%:28:-(G44) 50*70/10000=0.35
%:3i%:-(B14) 45*70/10000=0.32
LA E/]NE:0.98 M2

R AR MR RR:
%:132:30.00*16/10000=0.0480
%:25%:40.00*16/10000=0.0640
%:35%2:30.00*16/10000=0.0480
LLE/1NE1:0.1600 M2

B E AR AR OB
JE 1 (R E)-:B13=15%(380-70)/10000=0.47
EREEE2(F K )--B14=15%(380-70)/10000=0.47

Ll E/NEH0.93 M2
$§Hl%rfﬁ§§+:12.92-[#?51?‘%3‘5#%]0.98-[#:’5#&33#&]0.16-[#2 &% 22 $£]0.93=10.85 M2
RC:EtHE:

90*80*380/1000000= 2.736 M3
-------------- EY R K -1 7] V- S—
Mt ERR:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
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SRR/NET = 04971 T

HBRR/NET(E) = 10.85 M2

RAELT/NET = 2.736 M3

PNA21-01-#8&: 3F , #K5%: C15, fEFK:

39 [X8:+90,Y6:+249] R~t: 90 cm * 80 cm, #¥5: 380.0 cm

#8 ER(E14-—HRE): (380+0)*16/100 60.80
| g (Lo (B
[#&#%=0])
#4 SMEf- £ T i SMEEREE (5 T2)= (90+80)*2-8*4+2*13.89=335.8 53.72
g E FHES= Int(((380-70)/2)/10.0)+1=16
T K= 335.816/100=53.72 M
#4 SMER-h R SR EE (5 72)= (90+80)*2-8*4+2*13.89=335.8 36.94
g rh 5 B8= Int(((380-70)/2)/15.0)+1=11
rh R E e K= 335.8*11/100=36.94 M
#4 SMER-BRE SR EE(F72)= (90+80)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
EMEBERR-KFER,E | XOKE)MEEGRIE)= (90-2*[{RERB]4+2*[135EF &$7]13.9)
<7 A *2=219.6 )
Y(EE)FRE ()= (80-2*[{R#[B14+2*[135FE & £4]13.9)
*2=199.6
#4 855 T iF #4_F T B 8= Int(((380-70)/2)/10.0)+1=16 67.1
< F TR R= (219.6+199.6)*16/100=67.1 M
#4 B& 7 -th R b #A4Th R 8= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th QiR = (219.6+199.6)*11/100=46.1 M
#4 BhH-BERE HARZ [ERER=(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
EESTE

EBA TS (4A1)16-#8 ($B2)X-#X
ABAETE:(1B1)16-#8 (M2)X-#X
B335 (1)58:8-8*16%%

EhRETE:

F42Hk:(90+80)*2*380/10000=12.92 M2

HRGE AR RO RR:

%:152:-(B10) 45*60/10000=0.27
%:25%:-(G19) 50*70/10000=0.35
%:35%:-(CB10) 45*60/10000=0.27
%:45%:-(G20) 50*70/10000=0.35
LLE/NVET:1.24 M2

FERRE AR AR O BR:

%:15%:30.00*16/10000=0.0480
%5:25%:40.00*16/10000=0.0640
%5:35%:30.00*16/10000=0.0480
%:45%:40.00*16/10000=0.0640
LL_E/VET:0.2240 M2

FEHE AR RO RR:

T4 1 (BRI )-:G20=15"(10-10)/10000=0.00
I 2(3 BorEZ2):=15%(10-0)/10000=0.02
Ll E/NET:0.02 M2
WEARABET:12.92-[FE A H8]1.24-[#F hR 32 $10.22-[# 15 38 $%]0.02=11.44 M2

RCEH&E:

90*80*380/1000000= 2.736 M3

MAnEt HAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

SMER/INET =04971 T

BAR/NVET(E) = 11.44 M2

BB L/NET =2.736 M3

PNA21-01-#£f&: 3F , #K5%: C16, LB F5%: 43 [X9:-17,Y4:-92] R~F: 90 cm * 80 cm , #&: 380.0 cm
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#8 F (5 14R-—HEB): (380+0)*16/100 60.80
| g (Lo (4
[#&#%=0])
#4 SMER-L T i SR E(H )= (90+80)*2-8*4+2*13.89=335.8 57.08
g T = Int(((380-60)/2)/10.0)+1=17
I+ FHE#E K= 335.8*17/100=57.08 M
#4 SME - R SR E(H )= (90+80)*2-8*4+2*13.89=335.8 36.94
g rh J 4 28= Int(((380-60)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 SMER-RE 5\ (5 2)= (90+80)*2-8%4+2*13.89=335.8 20.15
g (Int(60/10))*335.8/100=20.15 M
BHEFER-KTERE | XOKE)AEEFGRIE)= (90-2*[{RERB]14+2*[135EF E$7]13.9)
</ [EE *2=219.6 )
Y(EE)AREHRE)= (80-2[REE4+2 135 E$5]13.9)
*2=199.6
#4 Bip-LTim #4 E T ixE 2= Int(((380-60)/2)/10.0)+1=17 71.3
</ E T R= (219.6+199.6)*17/100=71.3 M
#4 BE-hRim #4rh IR B EL= Int(((380-60)/2)/15.0)+1=11 46.1
<7 th JifkiE R = (219.6+199.6)*11/100=46.1 M
#4 BH-RER HARZ [ERE R =(219.6+199.6)*Int(60/10)/100= 25.15 M 25.1
EEHRTE:

ERBREH:(ME1)16-#8 (FH2)X-#X
ABRERH:(HH1)16-#8 (FH2)X-#X
BIE3REE(1)58:8-8*16%
ARt E:
FHEER:(90+80)*2*380/10000=12.92 M2
FERRE AR FORR:
%:158:-(B11) 45*60/10000=0.27
L E/NET:0.27 M2
FERRE AR AR FOBR:
2£:258:90.00*16/10000=0.1440
%£:338:30.00*16/10000=0.0480
LL_E/NET:0.1920 M2
FEHEE AR AR FORR:
1 (BRE )--S4=15%(380-25)/10000=0.53
0B K )-:S4=15%(380-25)/10000=0.53
B3 (E B orEZE):=15%(120-0)/10000=0.18
LLE/NET1.25 M2
EHJ%E%A 2.92-[#F R $£10.27-[AE iR 3 $£]0.19-[#E 5 35 $£]1.25=11.21 M2
RCEHE&E:
90*80*380/1000000= 2.736 M3

Mt EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
SARE/INET =04971 T
BAR/NVET(E) = 11.21 M2
SRR /NET = 2.736 M3

PNA21-01-#£&: 3F , #£4K5%: C18, fIiE 35k 45 [X9:-228,Y6:+105] R~t: 90 cm * 80 cm , #7&5: 380.0 cm

#8 ER(E14E-—HRE): (380+0)*16/100 60.80
| 5 2 (Lo (52
[#&#£=0])
#4 SV R5- £ T % S\ ERE(H )= (90+80)*2-8*4+2*13.89=335.8 53.72
@ E FHEE= Int(((380-70)/2)/10.0)+1=16
I FHE#aE= 335.816/100=53.72 M

rh R & B 2= Int(((380-70)/2)/15.0)+1=11

#4 @ SHE - R SERE(AR)= (90+80)*2-8*4+2*13.89=335.8 36.94
th R fEfE K= 335.8*11/100=36.94 M
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#4 SRR SR ()= (90+80)*2-8*4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BmEBERR-KER,E XOKFE) R E(HHAE)= (90-2*[{R#B]4+2*[135E & $7]13.9)
< B *2=219.6 )
Y(BE)EERE(H )= (80-2* IR HEB4+2*[1355 E£4]13.9)
*2=199.6
#4 B Tk #4 1 T 85 B 2= Int(((380-70)/2)/10.0)+1=16 67.1
<2 LT E= (219.6+199.6)*16/100=67.1 M
#4 B-rh R #4th R IHE = Int(((380-70)/2)/15.0)+1=11 46.1
<7 R 48 K = (219.6+199.6)*11/100=46.1 M
#4 BEH-BEE HARF EHE=(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
FEEHE

EBA TS (481)16-#8 ($B2)X-#X
ABAEE:(181)16-#8 (M2)X-#X
B335 (1)58:8-8*16%%

BhREHH:

F % hr:(90+80)*2*380/10000=12.92 M2

HEEERAR MO

%:158:-(B12) 45*60/10000=0.27
%:238:-(CB12) 45*60/10000=0.27
%:3;8:-(G19) 50*70/10000=0.35
Ll _E/NE:0.89 M2

HERRE AR b 0 PR

%:15%:30.00*16/10000=0.0480
%:35%:30.00*16/10000=0.0480
%:45%:40.00*16/10000=0.0640
LL_E/VET:0.1600 M2

HEAS B AR M O PR

1 (3 SorEZ2):=15*(380-0)/10000=0.57

B2 (MK )-:S4=15%(380-25)/10000=0.53

LLE/NER1.10 M2
AR AEET:12.92-[FE R X $£]0.89-[#F hr 32 $10.16-[4E 15 38 $%]1.10=10.77 M2

RCEH&E:

90*80*380/1000000= 2.736 M3

MAnEt HAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

SMER/INET =04971 T

BAR/NET(E) = 10.77 M2

B /G =2.736 M3

PNA21-01-#8f8: 3F , #HL5%: C17, MEF5%:

44 [X9:-144,Y5:+132] R~F: 90 cm * 80 cm , & 380.0 cm

#8 T Hh(E1HR-—REB): (380+0)*16/100 60.80
| EH+EE(Lg)(1EE
[#E#=0))
#4 sMERR- £ T i 5\ R BE ()= (90+80)*2-8*4+2*13.89=335.8 53.72
@ TR S= Int(((380-70)/2)/10.0)+1=16
+F#E#E K= 335.8%16/100=53.72 M
#4 VAS il RaE S 5\ 5 R EE ()= (90+80)*2-8*4+2*13.89=335.8 36.94
@ rh SR 5B 8= Int(((380-70)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 MR- 55 R BE ()= (90+80)*2-8*4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BHEHR-KFERE | XOKF)RREGGRHE)= (90-2*[REE]4+2*[135E &$7]13.9)
<7 B[ *2=219.6 i
Y(EE)ERE (4= (80-2*[{FHEB14+2*[135F € 40]13.9)
*2=199.6
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#4 B5- £ Tin #4 £ T i#E$= Int(((380-70)/2)/10.0)+1=16 67.1
</ £ TixiER= (219.6+199.6)*16/100=67.1 M
#4 BE-hRim #4rh RiH B EL= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th JifkiE R = (219.6+199.6)*11/100=46.1 M
#4 BH-BERE HAR B EHER=(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
fEEsTE:

LRERTH:(HE1)16-#8 (FH2)X-#X
KRBT :(HH1)16-#8 (FH2)X-#X
BN (1)4:8-8"16%

BhREHH:

F 1% hfr:(90+80)*2*380/10000=12.92 M2

HEEERAR MO

%:15%:-(B11) 45*60/10000=0.27
55:2i8:-(B12) 45*60/10000=0.27
%:35%:-(G15) 50*70/10000=0.35
LLE/VET:0.89 M2

HEMRE AR R 0 PR:

%:15%:30.00*16/10000=0.0480
%:35%:30.00*16/10000=0.0480
%:45%:40.00*16/10000=0.0640
LLE/VET:0.1600 M2

RSB R AR MO PR

1 (AR EE )-:S4=15*(380-25)/10000=0.53
0 (KR JEE )-:S4=15*(380-25)/10000=0.53
B 3(FRIE)-:G15=15*(70-70)/10000=0.00
LLE/NEH1.07 M2
AR AR ET12.92-[#H R 32 $£]0.89-[#E iR 32 $£]0.16-[4E 45 32 $%]1.07=10.81 M2

RCEHE:

90*80*380/1000000= 2.736 M3

Mt HAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

SMER/INET =04971 T

BAR/NET(E) = 10.81 M2

B /NG =2.736 M3

PNA21-01-#8J&: 3F , #{K5%: C16, MIEFK:

49 [X11:+166,Y4:-236] R~:90 cm * 80 cm , & 380.0 cm

#8 T Hh(E1HR-—REB): (380+0)*16/100 60.80
| EH+HEE (L) (il
[#E#=0))
#4 SER- L T i SV R EE(H5)= (90+80)*2-8*4+2*13.89=335.8 67.16
g TR = Int(((380-0)/2)/10.0)+1=20
L+ TiE#ER= 335.8*20/100=67.16 M
#4 SR -t 3 SV R EE(H )= (90+80)*2-8*4+2*13.89=335.8 43.65
g rh J 45 B 24= Int(((380-0)/2)/15.0)+1=13
{48 K= 335.8%13/100=43.65 M
#4 S\ R-RE SV R EE(H )= (90+80)*2-8*4+2*13.89=335.8 0.00
g (Int(0/10))*335.8/100=0.00 M
BHEHR-KERE | XOKP)MEEFRE)= (90-2*[{RERE]4+2*[135F E4$7]13.9)
<7 B[ *2=219.6 .
Y(EE)E R E ()= (80-2*[R#[B]4+2*[135F & $4]13.9)
*2=199.6
#4 B5- LT #4_F T iHE 8= Int(((380-0)/2)/10.0)+1=20 83.8
</ ETim#ER= (219.6+199.6)*20/100=83.8 M
#4 M- R R #4Th R 55 8= Int(((380-0)/2)/15.0)+1=13 54.5
<2 PR HHER = (219.6+199.6)*13/100=54.5 M
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#4 BiH-BEE HARRZ R R=(219.6+199.6)*Int(0/10)/100= 0.00 M 0.0

EEGIE
EBAEER(HR1)16-#8 (FB2)X-#X
AREHETH:(H1)16-#8 (FH2)X-#X
B RE(1)1H:8-816%

BRRETE:

F48HR:(90+80)*2*380/10000=12.92 M2

FERE R MR IORR:
L _E/NEF:0.00 M2

FERRE AR MR A0 B
25:2i8:90.00*16/10000=0.1440
25:3i8:80.00*16/10000=0.1280
25:438:90.00*16/10000=0.1440
LL_E/VE:0.4160 M2

FERE E AR MO R
1 (MK )-:S4=15%(380-25)/10000=0.53
(MR K )-:S4=15%(380-25)/10000=0.53
I 3(3 B orEZ):=15%(10-0)/10000=0.02
I 4B )-:S4=15%(10-10)/10000=0.00
LL_E/NET:1.08 M2

ﬁm%rﬁé?m 2.92-[#F#R3 $%10.00-[#E iR 3 $]0.42-[#F 5 32 $£]1.08=11.42 M2

RCEE:
90*80*380/1000000= 2.736 M3

At EHER:
#4=249.119 M (249.119 M*0.994/1000= 0.2476 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
$MER/INET = 04896 T
BAR/NVET(E) = 11.42 M2
iR /INE =2.736 M3

PNA21-01-#£&: 3F , #£L8%: C18, fiBF5E: 51 [X11:-45,Y6:-39] R~F: 90 cm * 80 cm , 4 5: 380.0 cm

#8 FHh(E1HR-—REB): (380+0)*16/100 60.80
| E S (Lg)(JEE
[#E#=0))
#4 sMERR- £ T i SV R EE(H5)= (90+80)*2-8*4+2*13.89=335.8 67.16
g F THEEE= Int(((380-0)/2)/10.0)+1=20
+ TiEfER= 335.8*20/100=67.16 M
#4 ST R SV R EE (B )= (90+80)*2-8*4+2*13.89=335.8 43.65
g rh J 5 B 24= Int(((380-0)/2)/15.0)+1=13
th 48 K= 335.8%13/100=43.65 M
#4 G- BRE SV R EE(H5)= (90+80)*2-8*4+2*13.89=335.8 0.00
g (Int(0/10))*335.8/100=0.00 M
EHEBEHR-KFRE | XOKF)AREGRE)= (90-2*[R#EE]4+2*[135E E$1]13.9)
<7 B[ *2=219.6 ]
Y(EE)EREE(H)= (80-2*[{R#[B14+2*[135FE E£4]13.9)
*2=199.6
#4 B5- LT #4_F T B 8= Int(((380-0)/2)/10.0)+1=20 83.8
</ ETiR#ER= (219.6+199.6)*20/100=83.8 M
#4 R M- R IR #4th R 5 8= Int(((380-0)/2)/15.0)+1=13 54.5
<2 rhRiG#E K= (219.6+199.6)*13/100=54.5 M
#4 BmH-RERE HARF BB R=(219.6+199.6)*Int(0/10)/100= 0.00 M 0.0
BERTE

EERI:(B1)16-#8 (fH2)X-#X
AR EH:(H1)16-48 (#2)X-#X
TR (1)%8:8-8* 16

ERRETE:
FHHR:(90+80)*2*380/10000=12.92 M2
HARE SRR
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Ll _E/NET:0.00 M2
RS SRR
Ll E/VEH:0.0000 M2
SRR
EHEE:1(FE SorE ZE):=15%(380-0)/10000=0.57
EREE:2(3F SorE ZE):=10%(30-0)/10000=0.03
LA _E/NET:0.60 M2
$§H&+{h§:§+:12.92-[&1%2&?%]0.00-[&#& 3 $£]0.00-[#: 4% 3 $£]0.60=12.32 M2
RCEt&E:
90*80*380/1000000= 2.736 M3
-------------- FECE T T S—
T EER:
#4=249.119 M (249.119 M*0.994/1000= 0.2476 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
$HAR/INET = 04896 T
RN () = 12.32 M2
BB /NGt =2.736 M3

PNA21-01-#&/8: 3F , #:4t5%: C17, &% 50 [X11:+38,Y5:-12] R~F: 90 cm * 80 cm , ¥ &: 380.0 cm

#8 ERF(E14-—HRE): (380+0)*16/100 60.80
| g4 Lo (B
[#&#=0])
#4 SN AS- £ T i SR EE ()= (90+80)*2-8*4+2*13.89=335.8 67.16
@ L+ THE = Int(((380-0)/2)/10.0)+1=20
T K= 335.8%20/100=67.16 M
#4 SME - R SR E ()= (90+80)*2-8*4+2*13.89=335.8 43.65
@ fh R EE 2= Int(((380-0)/2)/15.0)+1=13
R iERE R = 335.813/100=43.65 M
#4 SMER-RE SR E(FH )= (90+80)*2-8*4+2*13.89=335.8 0.00
@ (Int(0/10))*335.8/100=0.00 M
BHEBERER-KFER,E | XOKE)REEGRIE)= (90-2*[{REEB]14+2*[135E &4$7]13.9)
</ (=G *2=219.6 )
Y(EE)AREHRE)= (80-2[REE4+2 135 E$5]13.9)
*2=199.6
#4 B55- T ig #4_F TR E 8= Int(((380-0)/2)/10.0)+1=20 83.8
</ L TFig#E K= (219.6+199.6)*20/100=83.8 M
#4 Bih-h k% #4rh RIFEIEL= Int(((380-0)/2)/15.0)+1=13 54.5
<7 R iR = (219.6+199.6)*13/100=54.5 M
#4 B5-BRERE HARZ [ERER=(219.6+199.6)*Int(0/10)/100= 0.00 M 0.0
BESTE:

FEHER(HR1)16-#8 (FH2)X-#X
AREHERH(1)16-#8 (FH2)X-#X
1EERE(1)4:8-8"16%
BhARETE:
FHEHR:(90+80)*2*380/10000=12.92 M2
B IR IO R
LLE/NET:0.00 M2
FERRE IR R OB
LAk /1NET:0.0000 M2
NS E AR R OB
LL_E/NET:0.00 M2
Eﬁl%rfﬁg?m2.92-[#IF%3‘§?%]0.00-[#1#&53?&]O.OO-[#E%I&*?%]O .00=12.92 M2
RCEHE:
90*80*380/1000000= 2.736 M3
-------------- B R T Y |1y R—
Mt EHER:
#4=249.119 M (249.119 M*0.994/1000= 0.2476 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
$MRR/INET = 04896 T
BAR/NVET(E) = 12.92 M2
SR /NET = 2.736 M3
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PNA21-01-18&: 3F , #K5%: C19, MEFk:

53 [X12:-151,Y3:+120] R~t: 90 cm * 80 cm, #£5: 380.0 cm

#8 ER(E14E-—HRE): (380+0)*16/100 60.80
| g (Lo
[#&#%=0])
#4 SMEf- £ T i SRR EE(HT2)= (90+80)*2-8*4+2*13.89=335.8 53.72
g E FHEE= Int(((380-70)/2)/10.0)+1=16
T K= 335.816/100=53.72 M
#4 SMER-h R S\ R EE (5 72)= (90+80)*2-8*4+2*13.89=335.8 36.94
g rh 5 28= Int(((380-70)/2)/15.0)+1=11
rh R E e K= 335.8*11/100=36.94 M
#4 SMER-BRE SR EE(F72)= (90+80)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
EMEBERR-KFR,E | XOKFE)MEEGRIE)= (90-2*[{RERB]4+2*[135EF &$7]13.9)
<7 A *2=219.6 )
Y(EE)FRE ()= (80-2 [{R#[B14+2*[135FE & £4]13.9)
*2=199.6
#4 BHh-L T #4_F TR 8= Int(((380-70)/2)/10.0)+1=16 67.1
< F i R= (219.6+199.6)*16/100=67.1 M
#4 B& 7 -th SR8 #4th R 8= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th iR = (219.6+199.6)*11/100=46.1 M
#4 BH-RERE HARZ [ERE R =(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
fEEsTE:

EBRHER(11)16-48 (#B2)X-#X
ABHE:(H01)16-#8 ($A2)X-#X
BIEIRE(1)40:8-8*16%

EhRETE:

F42HR:(90+80)*2*380/10000=12.92 M2

HRGE R AR ORR:

%5:1i&:-(B13) 45*70/10000=0.32
Ll E/NE:0.32 M2

FERRE AR RO BR:

%:35%:30.00*16/10000=0.0480
%:45%:90.00*16/10000=0.1440
LLE/VET:0.1920 M2

FEHEE AR RO RR:

B i1 (RRE)-:B13=15%(380-70)/10000=0.47
0 (KR JEE )-:S4=15*(380-25)/10000=0.53
R 3(MRE )-:S4=15*(380-25)/10000=0.53
L E/NEH:1.53 M2
MR AR ET:12.92-[#H#E 32 $£]0.32- [#E iR 32 $£]0. 19[4 45 32 $%]1.53=10.88 M2

RCEtH&E:

90*80*380/1000000= 2.736 M3

MAnEt HAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

SMER/INET =04971 T

BAR/INET(E) = 10.88 M2

B /e =2.736 M3

PNA21-01-4£/8: 3F , A #R5E: C37, B RS 4 [X4:+222,Y15:+115] R~H(E i4E): :BE411 cm EiEHE: 9990

cm2 , ¥5: 380.0 cm

¥E# AR R ~:100.0 cm * 100.0 cm

#8

EH(FE1E-—B):
EfF+HER(Lg) (I
[F#=0])

(380+0)*18/100

68.40
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#4

SMER- £ T i

S (F )= (99.95077+99.95077)2-8+4+2*13.89=395.6
L+ T #EE= Int((380-70)/2)/10.0)+1=16
T MR = 395.6*16/100=63.29 M

63.29

#4

SR R ()= (99.95077+99.95077)*2-8*4+2+13.89=395.6
th s B #= Int(((380-70)/2)/15.0)+1=11
s 88 E = 395.6*11/100=43.51 M

43.51

YL R FE(F /)= (99.95077+99.95077)*2-8*4+2%13.89=395.6
(Int(70/10))*395.6/100=27.69 M

27.69

XOKFE)ERE(HFAE)= (99.95077-2*[{R & B]4+2*[135FE 12
$4]13.9)*4=478.9
Y(EE)AKE(HH4E)= (99.95077-2 [{R#E [E]4+2*[135E &
$4]13.9)*2=239.5

#4

#4 & T35 E 8= Int(((380-70)/2)/10.0)+1=16
L T8 E= (478.9+239.5)16/100=114.9 M

114.9

#4

#4th R IFE 2= Int(((380-70)/2)/15.0)+1=11
o R 48 K = (478.9+239.5)*11/100=79.0 M

79.0

#4

[
R
" U

HARF E M £ =(478.9+239.5)*Int(70/10)/100= 50.29 M

50.3

falsRa®E:

EBHER(11)18-4#8 (#A2)X-#X
ABHER:(H01)18-#8 (#A2)X-#X
BIEIRE(1)#0:8-8*18%

BhREHE:

F k[ B A48 K]411.3*380/10000=15.63 M2

HEERAR MO

%:158:-(B21) 50*70/10000=0.35
Ll _E/NEF:0.35 M2

HERRE R AR M 0 PR

%:138:132.00¥16/10000=0.2112
%5:2i%:40.00*16/10000=0.0640
%5:3i%£:90.00*16/10000=0.1440
LA E/INET0.4192 M2

FEHE AR RO FR:
I (RE)-
B2 (RE)-
I 3(RE)-

)_

0=20%(380-16)/10000=0.73

S
S0=20*
S

(

(380-16)/10000=0.73
0=20%(380-16)/10000=0.73

(

B 4 (MK )-:S0=10*(60-16)/10000=0.04
Ll E/NET:2.23 M2
MR #EET:15.63-[FE R X $£]0.35-[#F iR 32 $£10.4 2- 4 15 3 $%]2.23=12.63 M2

RCEtH&E:

[B B4 & E#E]9990.2*380/1000000=3.796 M3

-------------- FHE RN
]

#4=378.751 M (378.751 M*0.994/1000= 0.3765 T)
#8=68.400 M (68.400 M*3.980/1000= 0.2722 T)

$MER/NET =0.6487 T

BAR/IET(E) = 12.63 M2

B/ =3.796 M3

PNA21-01-4£f8: 3F , 4485 C38, 1B F3E: 56 [X14:-239,Y4:+139] R~ (B f4¥): sBE374 cm BREE: 8364

cm2 , ¥5: 380.0 cm

B AIZR~:91.5cm *91.5 cm

#8 TH(FE1HE-LERE (380+0.00)*18/100 68.40
[_ H): 3 5+ 00 R 8 S5
TE(HEHE[EE=0))
#4 SMER-L£ T i SR E(H )= (91.45491+91.45491)*2-8*4+2*13.89=361.6 57.86
@ T H= Int(((380-70)/2)/10.0)+1=16
F T K= 361.6*16/100=57.86 M
#4 SME - R S\E R (B 6)= (91.45491+91.45491)*2-8*4+2*13.89=361.6 | 39.78
@ R EE 2= Int(((380-70)/2)/15.0)+1=11
R EiE K= 361.6*11/100=39.78 M
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#4 SMER-RE SMERE(H )= (91.45491+91.45491)*2-8*4+2*13.89=361.6 | 25.31
@ (Int(70/10))*361.6/100=25.31 M
BHEBEHER-KFERE | XOKFE)RREGRAE)= (91.45491-2*[{R#&B14+2*[135EE
<7 EM $4]13.9)*4=444.9
Y(EE)ARE(HFAE)= (91.45491-2*[{RE[B)14+2*[135 R &
$#]13.9)*2=222.5
#4 B55- £ TiF #4_F T B 2= Int(((380-70)/2)/10.0)+1=16 106.8
<7 E TR R= (444.9+222.5)*16/100=106.8 M
#4 BE-h Rl #4th R 8= Int(((380-70)/2)/15.0)+1=11 73.4
<7 th ik R = (444.9+222.5)*11/100=73.4 M
#4 BH-RERE HARZ B R =(444.9+222 5)*Int(70/10)/100= 46.72 M 46.7
BEFTE

AT GR)XHX (#2)X-#X
AREHFER:(FE1)18-#8 (FH2)X-#X
RS (1)MH:8-TH18%
AR &
8 [E 4B £]374.27380/10000=14.22 M2
PR E AR MO RR:
%5:1i8:-(B31) 50*60/10000=0.30
%:2;8:-(G44) 50*70/10000=0.35
Ll _E/NET:0.65 M2
FERRE AR M0 B
25:3i8:40.00*16/10000=0.0640
25:43%:30.00*16/10000=0.0480
LL_E/NE:0.1120 M2
FENE E AR M0 B
1 (MK )-:S4=15%(10-10)/10000=0.00
2 (3 BorEZ):=15%(10-0)/10000=0.02
Ll _E/NEF:0.02 M2
ﬁm%rﬁg?m4.22-[*11%’&3??&]0.65-[*1#&3*&?&]0.1 1-[4E 1832 $£]0.02=13.44 M2
RCEE:
(B Fa 48 5]8364.0*380/1000000=3.178 M3
-------------- EIE- 1 W —
st EHER:
#4=349.865 M (349.865 M*0.994/1000= 0.3478 T)
#8=68.400 M (68.400 M*3.980/1000= 0.2722 T)
MR/ =0.6200 T
ERR/NETH(E) = 13.44 M2
BB/t =3.178 M3

PNA21-01-#&/8: 3F , 3 4X8E: C39, IERFEE: 57 [X14:-175,Y5:+17] R~F (B H#%): B&K361 cm Efm¥s: 7827
cm2 , ¥5: 380.0 cm
E# A2 R~:88.5cm * 88.5 cm

#8 EHE A LEE (380+0.00)*16/100 60.80
[_ ¥E): 5+ Q0RE 8 S8t
TE (1B [ 1=0])
#4 S AR- £ T i SMEREE ()= (88.47034+88.47034)*2-8*4+2*13.89=349.7 | 55.95
g £ T HEE2E= Int(((380-70)/2)/10.0)+1=16
L TEE K= 349.7*16/100=55.95 M
#4 SMERR-Th R SMEREE(HT2)= (88.47034+88.47034)*2-8*4+2*13.89=349.7 | 38.46
g rh R 5 Ba= Int(((380-70)/2)/15.0)+1=11
TR R= 349.7*11/100=38.46 M
#4 SMERR-RE SMEREE ()= (88.47034+88.47034)*2-8*4+2*13.89=340.7 | 24.48
g (Int(70/10))*349.7/100=24.48 M
BHEHRR-KER,E XOKF)MRE(HR4E)= (88.47034-2*[{REB14+2*[135FE &
< [ElR $4]13.9)*4=433.0
Y(EE)ARE(HFAL)= (88.47034-2 {RE&B]4+2*[135E &
$4]13.9)*2=216.5
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#4 B5- £ Tin #4 £ T i#E$= Int(((380-70)/2)/10.0)+1=16 103.9
<7 L Tix#aR= (433.0+216.5)*16/100=103.9 M
#4 BE-hRim #4rh RiH B EL= Int(((380-70)/2)/15.0)+1=11 714
<7 R I8 K= (433.0+216.5)*11/100=71.4 M
#4 BH-BERE HAR R EHE R =(433.0+216.5)*Int(70/10)/100= 45.47 M 455
fEEsTE:

BT (FR1)XHX (#2)X-#X
KRBT (H1)16-#8 (FH2)X-#X
HEIEIRE(1)4E:8-T 16X

BhREHH:

F &Rk [B A48 K]360.8*380/10000=13.71 M2

HEEERAR MO
%:158:-(B31) 50*60/10000=0.30
%:25%:-(G45) 50*70/10000=0.35
LLE/VET:0.65 M2
HEMRE AR b 0 PR
%:15%:62.40*16/10000=0.0998
%:45%:30.00*16/10000=0.0480
LLE/NVET:0.1478 M2
HEAS B R AR M O BR:
B 1 (FSoriE2):=15*(10-0)/10000=0.02
E R 2(BRE)-:G45=15%(10-10)/10000=0.00
LLE/NEF:0.02 M2

AR AEET:13.71-[FE R X $£]0.65-[#F iR 32 $10.15- [ 15 38 $%]0.02=12.90 M2

RCEHE:

[B B4 & @ #E]7827.0*380/1000000=2.974 M3

BRI

ARt H AR
#4=339.718 M (339.718 M*0.994/1000= 0.3377 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

MER/INET = 05797 T

BAR/INET(E) = 12.90 M2

Bt /e =2.974 M3

PNA21-01-#8: 3F , £ HK5%: C11, MEF5%:

27 [X6:-95,Y7:-200] R~F:80 cm * 90 cm , & 380.0 cm

#10 T Hh(E1HR-—REB): (380+0)*16/100 60.80
| T+ (L) (%
[#E#=0))
#4 sMER- £ T i SV R EE(H )= (80+90)*2-8*4+2*13.89=335.8 53.72
g T E= Int(((380-70)/2)/10.0)+1=16
+ TiE#ER= 335.8*16/100=53.72 M
#4 SME - R SR EE(H )= (80+90)*2-8*4+2*13.89=335.8 36.94
g th RG] 28= Int(((380-70)/2)/15.0)+1=11
rhRfEiE K= 335.8*11/100=36.94 M
#4 SMER-BRE SV R EE(H )= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
BHEHR-KERE | XOKP)AEEF )= (80-2*[{RERE]4+2*[135E E4$7]13.9)
<7 B[ *2=199.6 .
Y(EE)ERE(HB)= (90-2*[{R#[B14+2*[135EE & £]13.9)
*2=219.6
#4 B5- LT #4_F TR 8= Int(((380-70)/2)/10.0)+1=16 67.1
</ ETin#ER= (199.6+219.6)*16/100=67.1 M
#4 M- R IR #A4TH R 5EE 8= Int(((380-70)/2)/15.0)+1=11 46.1
<7 rh R iERER = (199.6+219.6)*11/100=46.1 M
#4 BhHh-BERE HARF [ERE R =(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
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s R

TR (E1)16-#8 (FH2)X-#X
ARBHIH:(E1)16-#10 (FH2)X-#X
{EHE285E(1)70:10-8*16

RhREt H:

FHEHR:(80+90)*2*380/10000=12.92 M2

HEEEAR RO

%:1;:8:-(G10) 50*60/10000=0.30
%:2;8:-(G20) 50*70/10000=0.35
%:358:-(G28) 50*70/10000=0.35
%:4;8:-(B15) 45*60/10000=0.27
L E/NVET:1.27 M2

HEMREEAR MR O BR:

%:1i%:40.00%16/10000=0.0640
%:2i%:30.00%16/10000=0.0480
%:3i%:40.00%16/10000=0.0640
%:4i%:30.00%16/10000=0.0480
LL_E/NEH:0.2240 M2

RS E AR RO RR:

LA E/VEE:0.00 M2
YRR AR ET:12.92-[FE R AT HE]1. 27 -[#E hR 32 $10.22- [#E 5 38 $%]0.00=11.43 M2

RC:tH&E:

80*90*380/1000000= 2.736 M3

et EAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)

$ARR/INET = 0.6436 T

BAR/MEH(E) = 11.43 M2

R L/NET =2.736 M3

PNA21-01-#£8: 3F , £ (BEE)HK%: C10, & F3%: 26 [X6:-10,Y6:-45] EfE: 90 cm , #5: 380.0 cm

#10 FH(E14-—ARRE): (380+0)*16/100 60.80
| g5+ 1 (Lo) (2
[#E1#=0])
#4 SV ERR- £ T 5\ R E (B2 )= (90-4*2)*3.1416+2*48%1.27=379.5 60.72
@ L THEEIE= Int(((380-70)/2)/10.0)+1=16
ETFiE#E K= 379.516/100=60.72 M
#4 HME - R 5\ R E (B2 )= (90-4*2)*3.1416+2*48%1.27=379.5 41.75
@ rh J 4 8k= Int(((380-70)/2)/15.0)+1=11
PR fERER= 379.5*11/100=41.75 M
#4 SMER-RE 5\ R E (B2 )= (90-4*2)*3.1416+2*48%1.27=379.5 26.57
@ (Int(70/10))*379.5/100=26.57 M
BHEHRE-RCH(E) XK T A& B (Bfis )= (90-2*4+2[##]*1.27*[1524]6)*2=194.5
<7 Y(EE)AREE(BERAE)= (90-2*4+2[H]*1.27 15 2:]6)*2=194.5
#4 Bip-LTim #4 £ T ixE28= Int(((380-70)/2)/10.0)+1=16 62.2
< E T R= (194.5+194.5)*16/100=62.2 M
#4 BE-PRim #4rh IR EIEL= Int(((380-70)/2)/15.0)+1=11 42.8
<7 th JifkiE R = (194.5+194.5)*11/100=42.8 M
#4 B-RERE #ABRF EHE K =(194.5+194.5)*Int(70/10)/100= 27.23 M 27.2
BERHE:

EREEEIH:(R1)14-#8 (FH2)X-#X
ABEERF:(FE1)16-#10 ($H2)X-#X
1B E(1)40:10-814%

BB E(2)#:10-T2%

BhARETE:

F R AR (EE4E):(90*3.1416)*380/10000=10.74 M2

HRGE AR RO RR:

%:158:-(G9) 50*70/10000=0.35
%:25%:-(G16) 50*70/10000=0.35
%:358:-(G10) 50*60/10000=0.30
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%458 :-(B7) 45°60/10000=0.27
LLE/NEE:1.27 M2
#IH&@?%*EH&?DB%
;ﬁ 13%:40.00*16/10000=0.0640
%5:25%:40.00*16/10000=0.0640
%:3i%:40.00%16/10000=0.0640
%:4i%:40.00%16/10000=0.0640
LL_E/NEH:0.2560 M2
NS B AR IR
LL_E/NEF:0.00 M2

RRARAEET:10.74-[AEER ST HE]1. 27-[AX hin 32 $]0.26- [#E 1% 32 $£]0.00=9.22 M2

RC:EHE:

ElfZ4%E: (90/2)72*3.1416*380/1000000= 2.417 M3

-------------- IR L [} p—
SRR

#4=261 .287 M (261.287 M*0.994/1000= 0.2597 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)

$ARR/INET =0.6482 T
BAR/MVEH(E) = 9.22 M2
BTN =2.417 M3

PNA21-01-#&/8: 3F , #:4t5%: CO, iiE F5%: 16 [X5:-75,Y7:-200] R~f: 80 cm * 90 cm , 45 380.0 cm

#8 F (5 14R-—HEB): (380+0)*16/100 60.80
| T+ EE(Lg) (B
[#&#%=0])
#4 SMER- L T i SR EE ()= (80+90)*2-8*4+2*13.89=335.8 53.72
@ T = Int(((380-70)/2)/10.0)+1=16
T K= 335.816/100=53.72 M
#4 SN - R 5\ (F5 %)= (80+90)*2-8%4+2*13.89=335.8 36.94
@ rh S 8k= Int(((380-70)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 SMERR-BRE 5\ iE R BE(F72)= (80+90)*2-8*4+2%13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BHEHREKTEME | XOKF)MEE(FHRIE)= (80-2 [{REE]4+2*[135E & £]13.9)
</ B[ *2=199.6 .
Y(EE)ARE )= (90-2 R #B]4+2*[135FE #$7]13.9)
*2=219.6
#4 B - £ T #4_F TR E 8= Int(((380-70)/2)/10.0)+1=16 67.1
<2 F i R= (199.6+219.6)*16/100=67.1 M
#4 BE-PRim #4rh IR B EL= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th JifiE R = (199.6+219.6)*11/100=46.1 M
#4 BH-BERE HAR R [E 8K =(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
EEREIE:

LEEFTE:(E1)16-#8 (FH2)X-#X

ABHER:(H1)16-48 (#B2)X-#X

BB (1)1:8-8"16%

ARG &

T4 HR:(80+90)*2*380/10000=12.92 M2

FERRE R IR IORR:
%5:1i8:-(G8) 45*60/10000=0.27
25:2i8:-(B15) 45*60/10000=0.27
25:3i8:-(G25) 50*70/10000=0.35
%5:4i8:-(B16) 45*60/10000=0.27
L E/NEH1.16 M2

FERRE AR R IIRR:
%5:1i8:40.00*16/10000=0.0640
25:2i%:30.00*16/10000=0.0480
25:3i8:40.00*16/10000=0.0640
25:43%:30.00*16/10000=0.0480
L E/NEH0.2240 M2

AR E AR RO RR:
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EHERE:1(BE)-:B15=15*(380-60)/10000=0.48
E RS 2(FRE)-:B16=15%(380-60)/10000=0.48
EREE:3(3F SorE ZE):=15%(60-0)/10000=0.09
LA _E/NET:1.05 M2
*EH%&§:5+:12.92-[H1%2§#§]1 16-[#EhR 33 $%]0.22-[#E 15 32 $]1.05=10.49 M2
RCEt&:
80*90%380/1000000= 2.736 M3
-------------- FECE T T S—
T EER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
AR/ = 04971 T
ERR/INETH(E) = 10.49 M2
BB /NG =2.736 M3

PNA21-01-#&/8: 3F , #1t5%: C22, RIEFFHR: 8 [X4:+45,Y8:+230] R~f: 80 cm * 90 cm , 45 380.0 cm

#8 F (5 14R-—HEB): (380+0)*16/100 60.80
| g (Lo) (B
[#&#=0])
#4 SV - £ T i 5\ (F52)= (80+90)*2-8%4+2*13.89=335.8 53.72
@ T E= Int(((380-70)/2)/10.0)+1=16
T R= 335.816/100=53.72 M
#4 SME - R SR E ()= (80+90)*2-8*4+2*13.89=335.8 36.94
@ h e 8k= Int(((380-70)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 SMER-RE 5\ R E ()= (80+90)*2-8*4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BHEHGR-KFERE | XOKF)AREFRE)= (80-2 [(REB4+2*[135E & £4]13.9)
</ E[A *2=199.6 .
Y(EE)AREHRE)= (90-2[RERE4+2*[135EE$5]13.9)
*2=219.6
#4 Bip-LTim #4 £ T iHE28= Int(((380-70)/2)/10.0)+1=16 67.1
</ F i R= (199.6+219.6)*16/100=67.1 M
#4 BE-PRim #4rh IR EIEL= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th JifkiE R = (199.6+219.6)*11/100=46.1 M
#4 B-REE #ARF EH R =(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
EESETE

EEREEH:(41)16-#8 ($H2)X-#X
ABHREH:(HE1)16-#8 (FH2)X-#X
BERE(1)#:8-8*16%

BRETE:

F#EkR:(80+90)*2*380/10000=12.92 M2

AEREEEMIOR:
%:15%:-(B18) 50*65/10000=0.33
%:258:-(G22) 50*70/10000=0.35
Ll E/NEH0.68 M2

A RRGE RO
%:2i8:30.00*16/10000=0.0480
%:3i8:40.00*16/10000=0.0640
:438:80.00*16/10000=0.1280
Ll E/NEH0.2400 M2

AR E RO
1 (MR )-:CS=15*(380-16)/10000=0.55
2B K )-:CS=15*(380-16)/10000=0.55
RS 3(#2 K )-:B18=15%(380-65)/10000=0.47
Ll E/NEH1.56 M2

$§Hl%rfﬁ§§+:1 2.92-[#E#E3Z$£]0.68-[#E iR 32 $£]0.24-[#E i& 35 $£]1.56=10.44 M2

RCEHE:
80*90*380/1000000= 2.736 M3

P EER:
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#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

$RE/INET =04971 T
BAR/NET(E) = 10.44 M2
SRR /NET = 2.736 M3

PNA21-01-1#8&: 3F , #:HK5%: C29, (B Fk:

29 [X6:-95,Y8:+230] R~F: 80 cm * 90 cm , #¥/5: 380.0 cm

#8 ERF(E14E-—HRE): (380+0)*16/100 60.80
| g (Lo (B
[#&#%=0])
#4 SV Ef5- £ T i SRR EE(HT2)= (80+90)*2-8*4+2*13.89=335.8 53.72
g L+ THEEI = Int(((380-70)/2)/10.0)+1=16
T K= 335.8%16/100=53.72 M
#4 SME - R 5\ 45 K BE (%)= (80+90)*2-8*4+2*13.89=335.8 36.94
g R EE 2= Int(((380-70)/2)/15.0)+1=11
th R fERE R = 335.8*11/100=36.94 M
#4 SMERR-RE SV 45E K BE (5 2)= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
EHERR-KFR,E | XOKFE)MEEGRIE)= (80-2*[{RERB]4+2*[135EF &$7]13.9)
<2 (4G *2=199.6 )
Y(EE)RRE ()= (90-2*[{REE]14+2*[135E & §7]13.9)
*2=219.6
#4 - F TR #4 T i%E = Int(((380-70)/2)/10.0)+1=16 67.1
< FTFik#E K= (199.6+219.6)*16/100=67.1 M
#4 B& 7 -th R b #4rh IR B EL= Int(((380-70)/2)/15.0)+1=11 46.1
<7 PR = (199.6+219.6)*11/100=46.1 M
#4 BH-BRERE HAR B EHEK=(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
BERTE:

LR (H1)16#8 (2)XH#X

AR (FE1)16-#8 ($H2)X-#X

B335 (1)58:8-8*16%

Rt E:

F 12 hR:(80+90)*2*380/10000=12.92 M2

AR E AR RO RR:
%:15%:-(G29) 50*70/10000=0.35
%:2i%:-(B17) 50*65/10000=0.33
LAk /NET:0.68 M2

FERRE AR R A0 B
%:3i2:40.00*16/10000=0.0640
%:45%:30.00*16/10000=0.0480
LA E/NEF:0.1120 M2

NS E AR R A0 B

EEE:1(FSorE %E):=15%(130-0)/10000=0.20

LLE/VE:0.20 M2

AR ET:12.92-[#F #2 3T $%]0.68-[4E iR 3T $£]0. 11-[#E 15 32 $%]0.20=11.94 M2

RCEtH&E:
80*90*380/1000000= 2.736 M3

MAnEt HAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

SMER/INET =04971 T
BAR/NVET(E) = 11.94 M2
R /NET = 2.736 M3

PNA21-01-#£&: 3F , #£L8%: C26, fiE F5E: 18 [X5:-75,Y8:+230] R~F: 80 cm * 90 cm , 4 &: 380.0 cm

#8 EH(E1E-—RE):
TH+HERE(Lg)(1EHE
[##E=0])

(380+0)*18/100

68.40
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SMERS- £ T SMEEE(F )= (80+90)*2-8*4+2+*13.89=335.8 53.72
L+ T #EE= Int((380-70)/2)/10.0)+1=16
T MR = 335.816/100=53.72 M

#4

SRS R sM4E 5 B (F7)= (80+90)*2-8*4+2+13.89=335.8 36.94
th R B #= Int(((380-70)/2)/15.0)+1=11
s 48 & = 335.8°11/100=36.94 M

#4

(Int(70/10))*335.8/100=23.50 M

i%ﬁéiﬁﬁ-zka‘uﬂ,ﬁ XOKFE)ERE(HHAE)= (80-2*[{R#EB]4+2*[135E & $7]13.9)
=G *2=199.6
Y(EE)AREHRE)= (90-2[REE14+2*[135EE$7]13.9)
*2=219.6

BT #4 T 5B %= Int(((380-70)/2)/10.0)+1=16 67.1
LTk E= (199.6+219.6)16/100=67.1 M

#4

8-l #4rh R B EE= Int(((380-70)/2)/15.0)+1=11 46.1
th R ifkiE R = (199.6+219.6)*11/100=46.1 M

#4

BH-BERE #ABRFEHE R =(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3

#4 g o\ A -BR SMERE(H )= (80+90)*2-8*4+2*13.89=335.8 23.50
#4

tEERaTE:
EEAEH(1)16-#8 (H2)X-#X
ABHIH:(HB1)18-#8 (fH2)X-#X
1B EE(1)40:8-8*16%
{BEBRE(2)#E:8-T2%
EARETE:
F4HR:(80+90)*2*380/10000=12.92 M2
SRR
%:1i2:-(B17) 50*65/10000=0.33
%:2i8:-(G26) 50*70/10000=0.35
%:3i2:-(B18) 50*65/10000=0.33
KL E/VET:1.00 M2
HERRE AR MR
%5:2i£:30.00*16/10000=0.0480
%:3i2:40.00*16/10000=0.0640
%:452:30.00*16/10000=0.0480
L E/NET:0.1600 M2
FENEE AR kR A0 R
1 (K)-:B18=15%(380-65)/10000=0.47
TS 2(FR K )-:B17=15%(380-65)/10000=0.47
KL E/NVET:0.95 M2
Eﬁl%r.fﬁgﬁnz.gz-[ffﬂéﬁﬁ?ﬁh .00-[#EhR 32 4£]0.16-[#Ef% 32 $£]0.95=10.82 M2
RCETH&E:
80*90*380/1000000= 2.736 M3

At EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=68.400 M (68.400 M*3.980/1000= 0.2722 T)
SMAR/INET = 0.5274 T
R/ () = 10.82 M2
R /NET = 2.736 M3

PNA21-01-#&/8: 3F , #4t5R: C23, RIEFFHR: 9 [X4:+45,Y10:+60] R~F: 80 cm * 90 cm , 45 380.0 cm

#10 TH(EE-—RE): (380+0)*16/100 60.80
| FH+EiE(Lg)(HEHE
[B#=0])
#4 sMERS- £ T i S5 B (F7)= (80+90)*2-8*4+2+13.89=335.8 53.72
D L+ T #EEI#= Int(((380-70)/2)/10.0)+1=16
+ T4 5= 335.816/100=53.72 M

th R 2= Int(((380-70)/2)/15.0)+1=11

#4 @ SME - R SMERE ()= (80+90)*2-8*4+2*13.89=335.8 36.94
HP R fE#E K= 335.8*11/100=36.94 M
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#4 SN - S\ R ()= (80+90)*2-8*4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BmEBERR-KER,E XOKFE) R E (G H4E)= (80-2*[{R#B]4+2*[135E & $7]13.9)
<2 B *2=199.6 ]
Y(BE)EERE(H )= (0-2* IR HEB4+2*[1355 E£4]13.9)
*2=219.6
#4 B Tk #4 1 T 85 B 2= Int(((380-70)/2)/10.0)+1=16 67.1
<2 T8 E= (199.6+219.6)*16/100=67.1 M
#4 B-rh R #4th R IHE = Int(((380-70)/2)/15.0)+1=11 46.1
<7 R 48 K = (199.6+219.6)*11/100=46.1 M
#4 BEH-BEE HARE B E=(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
FEEHE

EBA TS (481)16-#8 ($B2)X-#X
ABAEE:(181)16-#10 (FA2)X-#X
BIE225(1)%0:10-8*16%

BhREHH:

F 1 hfr:(80+90)*2*380/10000=12.92 M2

HEEERAR MO

%:158:-(G22) 50*70/10000=0.35
%:25%:-(B20) 45*65/10000=0.29
%:35%:-(G23) 50*70/10000=0.35
LLE/VET:0.99 M2

HEMRE AR MR 0 PR

%:15%:40.00*16/10000=0.0640
%:25%:30.00*16/10000=0.0480
%:35%:40.00*16/10000=0.0640
%:45%:80.00*16/10000=0.1280
LL_E/VET:0.3040 M2

RSB R AR M O PR

E S 1(MUE)-:CS=15*(380-16)/10000=0.55

)_
EEE2(RE)-
EEiE3(RE)-

)_

:CS=15%(380-16)/10000=0.55
:B20=15%(380-65)/10000=0.47

B 4(MRE)-:S1=15*(380-16)/10000=0.55
LLE/NEF:2.11 M2
FERRABET:12.92-[FE R $£]0.99-[#F iR 32 #10.30- [ 15 3 $%]2.11=9.51 M2

RCEHE:

80*90*380/1000000= 2.736 M3

MArEt HAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)

$MER/INET =0.6436 T
BAR/EH(E) = 9.51 M2
R /NGt = 2.736 M3

PNA21-01-#&: 3F , #{K5%: C30, M EFk:

30 [X6:-95,Y10:+60] R~F: 80 cm * 90 cm , 5 380.0 cm

#8 FER(E1HE-—REB): (380+0)*16/100 60.80
| I+ (Lg) (B
[#&8#£=0])
#4 SMERR-L T i HMERE(H )= (80+90)*2-8*4+2*13.89=335.8 53.72
g + THERE2= Int(((380-70)/2)/10.0)+1=16
+ FHE# K= 335.816/100=53.72 M
#4 SV - R HMERE(H )= (80+90)*2-8*4+2*13.89=335.8 36.94
g th G 28= Int(((380-70)/2)/15.0)+1=11
th R fERE K= 335.8*11/100=36.94 M
#4 ST - MERE(H )= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
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EmEBERR-KER,E XOKFE) R E(HHAE)= (80-2*[{R#EB]4+2*[135E & $7]13.9)
<2 B *2=199.6 ]
Y(BE)EERE(H )= (90-2* IR B4+2*[1355 E£4]13.9)
*2=219.6
#4 BE- Tk #4 & T 85 B 2= Int(((380-70)/2)/10.0)+1=16 67.1
<2 T8 E= (199.6+219.6)*16/100=67.1 M
#4 B-rh i #4th R IHE = Int(((380-70)/2)/15.0)+1=11 46.1
<7 R 48 K = (199.6+219.6)*11/100=46.1 M
#4 BE-BEE HARE B E=(199.6+219.6)Int(70/10)/100= 29.34 M 29.3
FEEHE

EBA TS (481)16-#8 ($B2)X-#X
ABAEE:(101)16-#8 ($82)X-#X
1EIE285E(1)58:8-8*16%%

BhREHE:

F 1% hfr:(80+90)*2*380/10000=12.92 M2

HEEERAR MO

%:15%:-(G29) 50*70/10000=0.35
%:25%:-(G30) 50*70/10000=0.35
%:35%:-(B19) 45*65/10000=0.29
LLE/VET:0.99 M2

HEMRE AR MR 0 PR

%:15%:40.00*16/10000=0.0640
%:25%:80.00*16/10000=0.1280
%:35%:40.00*16/10000=0.0640
%:45%:30.00*16/10000=0.0480
LLE/VET:0.3040 M2

RSB R AR M O PR

B 1(FRE)-:G30=15*(10-10)/10000=0.00

B 2(FRIE)-:G29=15*(130-70)/10000=0.09

LL_E/NEF:0.09 M2
AR ABET:12.92-[FE R $£]0.99-[#F iR 32 $10.30-[4F 15 38 $%]0.09=11.53 M2

RCEHE:

80*90*380/1000000= 2.736 M3

MArEt HAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

SMER/INET =04971 T

BAR/NEH(E) = 11.53 M2
iR /NE =2.736 M3

PNA21-01-#£&: 3F , #£08%: C27, RiBF5E: 19 [X5:-75,Y10:460] R~F: 80 cm * 90 cm , #&: 380.0 cm

#8 EHH(E14A-—ARE): (380+0)*16/100 60.80
| E+ERE(Lg) (1B
[#&$£=0])
#4 S\ A5 - £ T i s\iER B ()= (80+90)*2-8*4+2*13.89=335.8 53.72
g T HEBIE= Int(((380-70)/2)/10.0)+1=16
I T K= 335.816/100=53.72 M
#4 HME - R s\ER B ()= (80+90)*2-8*4+2*13.89=335.8 36.94
g o SRR EE= Int(((380-70)/2)/15.0)+1=11
th R fERE K= 335.8*11/100=36.94 M
#4 SME - SRR B ()= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
BHEBEHER-KERE | XOKE)AEEGRIE)= (80-2*[{REE]14+2*[135E & £7]13.9)
</ Em[ *2=199.6 .
Y(EE)EREE(HBE)= (90-2*[{R#[B14+2*[135 £ £]13.9)
*2=219.6
#4 Bi5-ETig #4 - T iRE 8= Int(((380-70)/2)/10.0)+1=16 67.1
</ ETim#ER= (199.6+219.6)*16/100=67.1 M
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#4 B H-th R #4th R IHE = Int(((380-70)/2)/15.0)+1=11 46.1
<7 R 48 K = (199.6+219.6)*11/100=46.1 M
#4 Bi5-BREE HARF EH5=(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
tBERaTE:

EBAEEE(HR1)16-#8 (JH2)X-#X
AREHER:(HE1)16-#8 (FH2)X-#X
B RE(1)1H:8-816%
BhRET &
F48HR:(80+90)*2*380/10000=12.92 M2
PR E AR MO RR:
25:138:-(G26) 50*70/10000=0.35
25:2i8:-(B19) 45*65/10000=0.29
25:3i8:-(G27) 50*70/10000=0.35
25:4i8:-(B20) 45*65/10000=0.29
LLE/NET1.29 M2
FERRE BEAR MR 0 B
25:1i8:40.00*16/10000=0.0640
25:2i8:30.00*16/10000=0.0480
25:3i8:40.00*16/10000=0.0640
25:43%:30.00*16/10000=0.0480
LL_E/NE:0.2240 M2
NS E AR M0 R
I 1(FRE)-:B20=15%(380-65)/10000=0.47
T 2(FRE )-:B19=15%(380-65)/10000=0.47
Ll _E/NET:0.95 M2
$§H%ﬁ§§+:12.92-[$1?£§?§]1 29-[#EhR 3 $%]0.22-[#E 15 %X $£]0.95=10.47 M2
RCEE:
80*90*380/1000000= 2.736 M3

At EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
SAER/INET =04971 T
BAR/NET(E) = 10.47 M2
iR /INE =2.736 M3

PNA21-01-#8&: 3F , #£C8%: C23, RiBF5E: 10 [X4:+45,Y12:-110] R~t: 80 cm * 90 cm , & 380.0 cm

#10 T Hh(E1HR-—REB): (380+0)*16/100 60.80
| T+ (L) (%
[#E#=0))
#4 sMER- £ T i SV R EE(HT5)= (80+90)*2-8*4+2*13.89=335.8 53.72
g T E= Int(((380-70)/2)/10.0)+1=16
+ TiE#ER= 335.8*16/100=53.72 M
#4 SME - R SV R EE(H5)= (80+90)*2-8*4+2*13.89=335.8 36.94
g th R G 28= Int(((380-70)/2)/15.0)+1=11
rhRfiEiE K= 335.8*11/100=36.94 M
#4 SMER- B SV R EE (B )= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
BHEHR-KERE | XOKP)MEEF )= (80-2*[{RERE]4+2[135E E4$7]13.9)
<7 B[ *2=199.6 .
Y(EE)EREE(HB)= (90-2*[{R#[B14+2*[135EE £ £]13.9)
*2=219.6
#4 B5- LT #4_F T iHE 8= Int(((380-70)/2)/10.0)+1=16 67.1
</ ETin#ER= (199.6+219.6)*16/100=67.1 M
#4 BB W-h R R #4th I Bh= Int(((380-70)/2)/15.0)+1=11 46.1
<7 hRiERER = (199.6+219.6)*11/100=46.1 M
#4 BhHh-BERE HARF [ERER=(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
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BERIE:

FEHER(E1)16-#8 ($H2)X-#X

REHEFH:(HE1)16-#10 ($82)X-#X

{EHE285E(1)70:10-8*16

EhARETE:

FHEHR:(80+90)*2*380/10000=12.92 M2

BRI
%:158:-(G23) 50*70/10000=0.35
%:2;8:-(B20) 45*65/10000=0.29
%:358:-(G23) 50*70/10000=0.35
LLE/VET:0.99 M2

FERRE IR IR IR
%:13i%:40.00%16/10000=0.0640
%:2i%:30.00%16/10000=0.0480
%:3i%:40.00%16/10000=0.0640
%:4i%:80.00%16/10000=0.1280
LL_E/NEH:0.3040 M2

NS B RE RR IR
EHEE 1 (RRE)-
EEE2(RRE)-
EEE3(ARE)-
EEREARE)-
LLE/MNEE:2.11 M2

5y Yy

:CS=15%(380-16)/10000=0.55
:CS=15%(380-16)/10000=0.55
:$1=15%(380-16)/10000=0.55
:B20=15%(380-65)/10000=0.47

FERR AR ET:12.92-[#E B3 $£]0.99-[#F iR 32 $%10.30-[#E 5 38 $%]2.11=9.51 M2

RC:tH&E:

80*90*380/1000000= 2.736 M3
-------------- R R 20 N C—
Mt ERER

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)

$ARR/INET =0.6436 T
BAR/NVEH(E) = 9.51 M2
R /NET = 2.736 M3

PNA21-01-488: 3F , $E{8%: C24, f1BRESE: 11 [X4:+45,Y13:+220] R~t: 80 cm * 90 cm , 43: 380.0 cm

#8 ERF(E14-—HRE): (380+0)*16/100 60.80
| T+ (Lg) (B
[#&#=0])
#4 SV - £ T I SR EE ()= (80+90)*2-8*4+2*13.89=335.8 53.72
@ L+ THE &= Int(((380-70)/2)/10.0)+1=16
T K= 335.8%16/100=53.72 M
#4 HME - R SR E(FHH2)= (80+90)*2-8*4+2*13.89=335.8 36.94
@ R EE 2= Int(((380-70)/2)/15.0)+1=11
i R iERE R = 335.8*11/100=36.94 M
#4 SMER-RE 5\ REE(FHF2)= (80+90)*2-8*4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
EMBHR-KERE | XOKE)MEE(FRE)= (80-2*[{REB14+2*[135EE$7]13.9)
< (=G *2=199.6 )
Y(EE)EKE (4= (90-2 (R #B]14+2* 135 E4$5]13.9)
*2=219.6
#4 Y- LT % #4_ T B 2= Int(((380-70)/2)/10.0)+1=16 67.1
</ L TFig#E K= (199.6+219.6)*16/100=67.1 M
#4 8-l #4th R B= Int(((380-70)/2)/15.0)+1=11 46.1
<7 PR R= (199.6+219.6)*11/100=46.1 M
#4 BH-BERE HAR R [E K =(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
BERTE:

LEFEE:(#R1)16-#8 (FH2)X-#X
A EH:(41)16-#8 (H2)X-HX
BiEa35E(1)4:8-8*16%

BRETE:
F 4 hk:(80+90)*2*380/10000=12.92 M2
FEARE RO
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% :152:-(G23) 50*70/10000=0.35
%:2;8:-(B20) 45*65/10000=0.29
%:358:-(G24) 50*70/10000=0.35
LLE/VET:0.99 M2

FERRE IR IR IO R
%:13i%:40.00%16/10000=0.0640
%:2i%:30.00%16/10000=0.0480
%:3i%:40.00%16/10000=0.0640
%:4%:80.00%16/10000=0.1280
LL_E/VEH:0.3040 M2

NS B AR IO R
E 1 (MRUE)-:CS=15%*(380-16)/10000=0.55
E I 2(MRUE)-:CS=15%(380-16)/10000=0.55

:B20=15*(380-65)/10000=0.47

EIERE:3

(

(BRE

E R 4(MRE)-:S1=15%(380-16)/10000=0.55
(

)-
)-
)-
)-
)-

TEHE IS 5(FRE)-:G24=15%(10-10)/10000=0.00
KL ENER2.11 M2
FERR AR ET:12.92-[#E B3 $£]0.99-[#F iR 32 $10.30-[#E 5 38 $%]2.11=9.51 M2

RCEHE:

80*90*380/1000000= 2.736 M3

et EAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

$ARR/INET =04971 T

BAR/NVEH(E) = 9.51 M2
RN = 2.736 M3

PNA21-01-t#&&: 3F , #1X5%: C30, & F%k: 31 [X6:-95,Y12:-110] R~F: 80 cm * 90 cm , ¥ 5: 380.0 cm

#8 FH(E1HE-—AEE): (380+0)*16/100 60.80
| T+ (Lg) (B
[#&#%=0])
#4 S\ AR- £ T iR SERE(H )= (80+90)*2-8*4+2%13.89=335.8 53.72
@ T E= Int(((380-70)/2)/10.0)+1=16
T K= 335.816/100=53.72 M
#4 SMERR-TP R 5\ iE R BE ()= (80+90)*2-8*4+2*13.89=335.8 36.94
@ rh 4 2k= Int(((380-70)/2)/15.0)+1=11
th 5 e K= 335.8*11/100=36.94 M
#4 SNiER-BRE 5\ 5 R BE ()= (80+90)*2-8*4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BHEHmR-KFERE | XOKF)AREFRE)= (80-2 [(REB4+2*[135E & £4]13.9)
<7 B *2=199.6 .
Y(EE)ARE )= (90-2 R B]4+2*[135FE #$7]13.9)
*2=219.6
#4 Bip-LTim #4 £ T ixE28= Int(((380-70)/2)/10.0)+1=16 67.1
<2 E T R= (199.6+219.6)*16/100=67.1 M
#4 BE-PRim #4rh IR EL= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th fifkiE R = (199.6+219.6)*11/100=46.1 M
#4 BH-BERE HAR R[4 K=(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
EESETE:

LEFEEH:(R1)16-#8 (FH2)X-#X
ABA LS (481)16-#8 ($82)X-#X
B3R E(1)%8:8-8"16%

BT E:

F 1% hir:(80+90)*2*380/10000=12.92 M2

HEEERR RO
%:158:-(G30) 50*70/10000=0.35
5:258:-(G30) 50*70/10000=0.35
%:358:-(B19) 45*65/10000=0.29
LLE/VET:0.99 M2

HEME AR MR O PR:
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%:1:2.40.00"16/10000=0.0640
%5:35%:40.00*16/10000=0.0640
%5:45%:30.00*16/10000=0.0480
LL_E/NEH:0.1760 M2
NS B AR IR
EHEEE:1(E SorE %E):=15%(210-0)/10000=0.32
E RS2 (B E)-:G30=15*(130-70)/10000=0.09
E RS 3(FRE)-:G30=15%(20-20)/10000=0.00
LLE/NET:0.41 M2
$§H&+ﬁ§:§+:12.92-[&*%23??%]0.99-[&#& X $#]0.18-[#E 1532 4%]0.41=11.35 M2
RC:EtH&E:
80*90*380/1000000= 2.736 M3
-------------- R R 0] N C—
At EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
MAER/NET = 04971 T
BAR/MEH(E) = 11.35 M2
R /NET = 2.736 M3

PNA21-01-#&/8: 3F , #4t5%: C27, RIEF%: 20 [X5:-75,Y12:-110] R~F: 80 cm * 90 cm , ¥ &: 380.0 cm

#8 ERF(E14-—HRE): (380+0)*16/100 60.80
| FH -+ (Lg)(HEHE
[#&#=0])
#4 S\ RS- £ T i SR EE ()= (80+90)*2-8*4+2*13.89=335.8 53.72
@ L+ THE %= Int(((380-70)/2)/10.0)+1=16
T K= 335.8%16/100=53.72 M
#4 HME - R SR E ()= (80+90)*2-8*4+2*13.89=335.8 36.94
@ R EE 2= Int(((380-70)/2)/15.0)+1=11
th R iERE R = 335.8*11/100=36.94 M
#4 SMER-RE 5\ R E(FHH2)= (80+90)*2-8*4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BHEBERER-KFER,E | XOKE)REEGRIE)= (80-2*[{REB]4+2*[135E &4$7]13.9)
</ A *2=199.6 .
Y(EE)ERE(HBAE)= (90-2* [{R#[B14+2*[135EE & £4]13.9)
*2=219.6
#4 V- ETi% #4_F T B 2= Int(((380-70)/2)/10.0)+1=16 67.1
</ Lt TFigiE K= (199.6+219.6)*16/100=67.1 M
#4 BE-PRim #4rh RIFEIEL= Int(((380-70)/2)/15.0)+1=11 46.1
<7 PR iR = (199.6+219.6)*11/100=46.1 M
#4 BH-BERE HAR R[4 K =(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
BERTE:

ERAEEE(HE1)16-#8 (FB2)XHX
ABAEEE:(101)16-#8 ($B2)X-#X
FIEIEE(1)4:8-8"16%

AR &

I #£R:(80+90)*2+380/10000=12.92 M2
FERRE R IR IORR:
%:1i2:-(G27) 50*70/10000=0.35
%5:2i2:-(B19) 45*65/10000=0.29
%:3i8:-(G27) 50*70/10000=0.35
%5:4:2:-(B20) 45*65/10000=0.29
Bl _E/NEH:1.29 M2
FERRE AR M A0 B
%5:1i2:40.00*16/10000=0.0640
%5:2i2:30.00*16/10000=0.0480
%5:3i2:40.0016/10000=0.0640
%5:43%:30.00*16/10000=0.0480
Bl _E/NEF:0.2240 M2
RS E AR MR A0 RR:
SEFEYE 1 (B2 E)-:B20=15%(380-65)/10000=0.47
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E RIS 2(FRK)--B19=15%(380-65)/10000=0.47
KL E/NVET:0.95 M2
R #RET12.92-[F R 3T #]1.29-[#E kit 32 #£]0.22-[# 18 32 $£]0.95=10.47 M2

RC:tH&E:

80*90*380/1000000= 2.736 M3

et HAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

SARR/INET = 04971 T

BAR/NEH(E) = 10.47 M2

BB L/NET =2.736 M3

PNA21-01-#&/8: 3F , #:1t5%: C28, RIEFk:

21 [X5:-75,Y13:+220] R~F: 80 cm * 90 cm , 4 5: 380.0 cm

#8 x (5 14R-—HEB): (380+0)*16/100 60.80
| g5+ 1 (Lo) (2
[#&#=0])
#4 SV - £ T i 5\ (F52)= (80+90)*2-8%4+2*13.89=335.8 53.72
@ T = Int(((380-70)/2)/10.0)+1=16
F T K= 335.816/100=53.72 M
#4 SME - R SR E ()= (80+90)*2-8*4+2*13.89=335.8 36.94
@ rh 4 2k= Int(((380-70)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 SMiERR-BRE 5\ 5 R BE ()= (80+90)*2-8*4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BHEGR-KFERE | XOKF)AREFRE)= (80-2 [(REB4+2*[135E & £]13.9)
</ E[A *2=199.6 .
Y(EE)AREHRHE)= (90-2[REE4+2*[135E & $5]13.9)
*2=219.6
#4 Bi-L T #4 £ T ixE28= Int(((380-70)/2)/10.0)+1=16 67.1
</ F i R= (199.6+219.6)*16/100=67.1 M
#4 BE-hRim #4rh IR EIEL= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th f ik R = (199.6+219.6)*11/100=46.1 M
#4 B-RERE #ABRF B K =(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
BERHE:

LEEFTE:(HE1)16-#8 (FH2)X-#X
ABHEL:(H1)16-48 (#A2)X-#X

LR (1)4:8-8"16
B hRETH-

E15HR:(80+90)*2*3

HARE AR R IORR:

b3
80/10000=12.92 M2

%:158:-(G27) 50*70/10000=0.35
%:2;8:-(B17) 50*65/10000=0.33
%:3;8:-(G40) 50*70/10000=0.35

%:4:8:-(B20) 4

5*65/10000=0.29

LLE/NET:1.32 M2

HEME AR MR O PR:

%:158:40.00*16/10000=0.0640
%5:25%:30.00*16/10000=0.0480
%5:35%:40.00*16/10000=0.0640
%:45%:30.00*16/10000=0.0480

LLE/NEH:0.224
RS E AR RO PR

0 M2

E i1 (RRE)-:B20=15%(380-65)/10000=0.47
IO (KR )-:B17=15%(380-65)/10000=0.47
IS 3(E SorE Z2):=12*(35-0)/10000=0.04
S 4(F B orE Z2):=10*(20-0)/10000=0.02
LLE/NEH1.01 M2
FERR AR ET:12.92-[AE R 3 #2]1.32- [#E iR 32 $£]0.22-[#E i 32 $%]1.01=10.37 M2

RC:tH&E:

80*90*380/1000000= 2.736 M3
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-------------- EI T 1 Y]] S—
Mt EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
$RE/INET =04971 T
BAR/NET(E) = 10.37 M2
SRR /NET = 2.736 M3

PNA21-01-#8/8: 3F , # L8 C31, (B FEaE: 32 [X6:-95,Y13:+220] R~: 80 cm * 90 cm , #&: 380.0 cm

#8 EHE1E-—RE): (380+0)*16/100 60.80
| T B (Lo)
& 2-0))
#5 NEfR- £ T g %fﬁﬁfi(jﬁﬁ?ﬁ (80+90)*2-8*4+2%13.89=335.8 53.72
[; T EEE= Int(((380-70)/2)/10.0)+1=16
+ T R= 335.8*16/100=53.72 M
#4 SEAR-h R SERE(H )= (80+90)*2-8*4+2%13.89=335.8 36.94
[; th sk BB B = Int(((380-70)/2)/15.0)+1=11
hRfEfEKE= 335.8¥11/100=36.94 M
#5 S iEfR-BR 2 SERE(HH)= (80+90)*2-8*4+2%13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
REEEEATAE | XOKT)REESIAL)- (02 [REM4+2 135 EE]17.7)
< 7 | EA "2=214.6 _
VB I REE ST (002 [RHEEI+271 35 EHE17.7)
*2=234.6
#5 Bip-ETim #5 £ T imE#= Int(((380-70)/2)/10.0)+1=16 71.9
N— T E= (214.6+234.6)16/100=71.9 M
#5 Bk #5501 RIBEB= Int(((380-70)/2)/15.0)+1=11 49.4
< R E = (214.6+234.6)*11/100=49.4 M
#5 BE-BREE H5BR EME=(214.6+234.6)Int(70/10)/100= 31.45 M 314
FEENE

EEEH:(HR1)16-#8 (FH2)X#X
AR (FE1)16-#8 ($H2)X-#X
MBI RE(1)1H:8-8"16%
ERETE:
F48HR:(80+90)*2*380/10000=12.92 M2
BRI OB
%5:138:-(G30) 50*70/10000=0.35
25:2i8:-(G33) 60*60/10000=0.36
%5:3i8:-(B28) 45*60/10000=0.27
%5:438:-(B17) 50*65/10000=0.33
LLE/NET1.31 M2
FE RGBSR R OB
25:138:40.00*16/10000=0.0640
25:2i8:30.00*16/10000=0.0480
25:3i8:40.00*16/10000=0.0640
25:438:30.00*16/10000=0.0480
LL_E/VE:0.2240 M2
RSB AR R O B
1 (KK )-:B28=15%(380-60)/10000=0.48
B 2(FR K )-:G33=15*(380-60)/10000=0.48
I 3(H BorEZE):=15%(120-0)/10000=0.18
LLE/NER1.14 M2
ﬁm%rfg?m 2.92-[#F R HE1.31-[FE IR 3T $5]0.22-[#F 5 32 $£]1.14=10.25 M2
RCEH&E:
80*90*380/1000000= 2.736 M3

At EER:
#4=36.936 M (36.936 M*0.994/1000= 0.0367 T)
#5=229.978 M (229.978 M*1.560/1000= 0.3588 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
$MER/NET =0.6375 T
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BRR/NVET(E) = 10.25 M2
SR /NET = 2.736 M3

PNA21-01-#£f&: 3F , #E4K5%: C22, fIE F3k: 7 [X4:+45,Y8:+130] R~F: 80 cm * 90 cm , #5: 380.0 cm

#8 ERF(E14E-—HRE): (380+0)*16/100 60.80
| g (Lo (B
[#&#%=0])
#4 SMEf- £ T i SV R BE (%)= (80+90)*2-8*4+2*13.89=335.8 53.72
g T = Int(((380-70)/2)/10.0)+1=16
T K= 335.816/100=53.72 M
#4 SMER-H R SR EE (5 72)= (80+90)*2-8*4+2*13.89=335.8 36.94
g rh G 28= Int(((380-70)/2)/15.0)+1=11
rh R E i K= 335.8*11/100=36.94 M
#4 SMER-RE SR EE (5 72)= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
EMEBERER-KFR,E | XOKE)MEEGRIE)= (80-2*[{RERB]4+2*[135EF &$7]13.9)
<7 EM *2=199.6 )
Y(EE)FRE ()= (90-2*[{R#[B14+2*[135FE & £7]13.9)
*2=219.6
#4 B5- £ Tin #4_F TR 8= Int(((380-70)/2)/10.0)+1=16 67.1
< F TR R= (199.6+219.6)*16/100=67.1 M
#4 BE-h Rl #A4th R 8= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th QiR = (199.6+219.6)*11/100=46.1 M
#4 BH-RERE HARZ [ERE R =(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
EESTE:

LR (H1)16-#8 (#2)X#X
AR (FE1)16-#8 ($H2)X-#X
B335 (1)58:8-8*16%%
EhRETE:
F#2hR:(80+90)*2*380/10000=12.92 M2
AR E AR RO RR:
%:152:-(G21) 50*70/10000=0.35
%:2i%:-(B18) 50*65/10000=0.33
LAk /NEF:0.68 M2

FERRE AR R A0 B
%:178:40.00*16/10000=0.0640
££:2%:30.00*16/10000=0.0480
%:45%:80.00*16/10000=0.1280
L E/NET:0.2400 M2

FEHE AR RO RR:
EiEfE:1(BE)-:B18=15%(380-65)/10000=0.47
EiEE:2(ME)-:S1=15%(380-16)/10000=0.55
E 1S 3(ME)-:CS=15*(380-16)/10000=0.55
E i 4(ME)-:CS=15*(380-16)/10000=0.55

LLE/NET:2.11 M2

FERRAEET:12.92-[FE R $£]0.68-[#F hR 32 #10.24- [ 15 3 $%]2.11=9.89 M2

RCEHE:
80*90*380/1000000= 2.736 M3

MAnEt HAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

MER/INET =04971 T
BRR/NVET(E) = 9.89 M2
R /NGt = 2.736 M3

PNA21-01-#£f&: 3F , #£/88%: C26, SIEBFE&E: 17 [X5:-75,Y8:+130] R~F: 80 cm * 90 cm , #&: 380.0 cm
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#8 ERF(FE14-—HRE): (380+0)*18/100 68.40
| T H+EE(Lg)(HEHE
[#&#%=0])
#4 SV - £ T i 5\ (F52)= (80+90)*2-8%4+2*13.89=335.8 53.72
g T E= Int(((380-70)/2)/10.0)+1=16
F T K= 335.816/100=53.72 M
#4 SME - R SR E(H )= (80+90)*2-8*4+2*13.89=335.8 36.94
g rh e 28= Int(((380-70)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 SN RR-R 5\ iE R BE(H2)= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
BHEFER-KTERE | XOKFE)AEE(HRE)= (80-2*[{RERB]4+2*[135EF E$7]13.9)
</ EM[ *2=199.6 ]
Y(EE)ERE(FBE)= (90-2* [{R#[B14+2*[135EE £ £7]13.9)
*2=219.6
#4 Bip-LTim #4 E T ixE 2= Int(((380-70)/2)/10.0)+1=16 67.1
</ E T R= (199.6+219.6)*16/100=67.1 M
#4 BE-hRim #4rh IR EIEL= Int(((380-70)/2)/15.0)+1=11 46.1
</ th JifkiE R = (199.6+219.6)*11/100=46.1 M
#4 B-RERE #ABRFEHFE=(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3

RSt R:

EBAEER(HR1)16-#8 ($B2)X-#X
ABHER:(H1)18-4#8 (#A2)X-#X
B8 (1)1:8-8"16%
BEREQ)ME:8-T2X

BhREHH:

F 1 hfr:(80+90)*2*380/10000=12.92 M2

HRGE AR AR ORR:

%:158:-(G25) 50*70/10000=0.35
%:25%:-(B17) 50*65/10000=0.33
%:352:-(B18) 50*65/10000=0.33
LLE/VET:1.00 M2

FERE BEAR AR O BR:

%:15%:40.00*16/10000=0.0640
%:25%:30.00*16/10000=0.0480
%:45%:30.00*16/10000=0.0480
LL_E/VET:0.1600 M2

FEHEE AR RO RR:

I 1(FRE)-:B18=15%(380-65)/10000=0.47
T 2(FRE)-:B17=15%(380-65)/10000=0.47
Ll _E/NEF:0.95 M2
AR AEET:12.92-[FE R 3 $5]1.00-[#F iR 32 $10.16- [ 15 38 $%]0.95=10.82 M2

RCEH&E:

80*90*380/1000000= 2.736 M3

MAnEt HAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=68.400 M (68.400 M*3.980/1000= 0.2722 T)

$MER/INET = 0.5274 T

BAR/NVET(E) = 10.82 M2

B /NG =2.736 M3

PNA21-01-#£f8: 3F , #K58%: C29, IEFF5k: 28 [X6:-95,Y8:+130] R~t: 80 cm * 90 cm, #&: 380.0 cm

U

#8 ERH(BEE-—RE): (380+0)*16/100 60.80
| 3 (Lo (4
& #2-0)
NEF- L T im %ﬁﬁg(ﬁﬁ?F (80+90)*2-8*4+2*13.89=335.8 53.72

L T E = Int((380-70)/2)/10.0)+1=16
+ T8 E= 335.816/100=53.72 M
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#4 SMER-H R SR EE (5 72)= (80+90)*2-8*4+2*13.89=335.8 36.94
@ rh 5 B8= Int(((380-70)/2)/15.0)+1=11
th R fE4E K= 335.8%11/100=36.94 M
#4 VAS il e S\ R E(F )= (80+90)*2-8*4+2%13.89=335.8 23.50
B (Int(70/10))*335.8/100=23.50 M
BHEHGR-KFERE | XOKF)AREFRE)= (80-2 [(RERB4+2*[135E & £4]13.9)
<7 EM *2=199.6 ]
Y(EE)ARE ()= (90-2 R B]4+2*[135FE #$7]13.9)
*2=219.6
#4 B - LT #4_E T B $= Int(((380-70)/2)/10.0)+1=16 67.1
</ E TR R= (199.6+219.6)*16/100=67.1 M
#4 BE-PRin #4rh R B EE= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th ik R = (199.6+219.6)*11/100=46.1 M
#4 BH-BERE HAR R[4 K=(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
fEESTE:

EEEEH:(HR1)16-#8 (FH2)X#X
AR (FE1)16-#8 ($H2)X-#X
MBI RS (1)1H:8-8"16%
BhRET &
F48HR:(80+90)*2*380/10000=12.92 M2
PR E AR MO RR:
%5:138:-(G28) 50*70/10000=0.35
%5:2i8:-(B17) 50*65/10000=0.33
Ll _E/VET:0.68 M2
FERRE BEAR MR 0 B
25:138:40.00*16/10000=0.0640
25:438:30.00*16/10000=0.0480
LU E/NEF0.1120 M2
AN E AR R O B
TR (B orEZE):=15%(90-0)/10000=0.14
Ll E/NEF0.14 M2
$Em%rﬁ.§s+:12.92-[*11%’&3??&]0.68-{&#&?&?&]0.1 1-[4E 832 $£]0.14=12.00 M2
RCE&E:
80*90*380/1000000= 2.736 M3

Mt EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
AER/INET =04971 T
BAR/INET(E) = 12.00 M2
iR /INE =2.736 M3

PNA21-01-#£f8: 3F , #K58%: C34, 1B FF5k: 33 [X6:-90,Y15:-215] R~t: 90 cm * 80 cm , #&: 380.0 cm

#8 EH(E1HE-—HBE): (380+0)*18/100 68.40
| 3+ (Lo (12
[#&$£=0])
#4 5\ A5 - £ T i SRR B ()= (90+80)*2-8*4+2*13.89=335.8 57.08
g T HEEIE= Int(((380-60)/2)/10.0)+1=17
L+ FHE#E K= 335.817/100=57.08 M
#4 SMERR-P R SRR B ()= (90+80)*2-8*4+2*13.89=335.8 36.94
g o SRR E8= Int(((380-60)/2)/15.0)+1=11
th R fEfE K= 335.8*11/100=36.94 M
#4 S\ ERR- R SRR B ()= (90+80)*2-8*4+2*13.89=335.8 20.15
g (Int(60/10))*335.8/100=20.15 M
BHEBEHFER-KTERE | XOKE)AEEGHRIE)= (90-2*[{REE]14+2*[135E & £7]13.9)
<7 (1G] *2=219.6 7
Y(EE)EREE(HTBE)= (80-2*[{R#[B14+2*[135FE & £4]13.9)
*2=199.6
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#4 B5- £ Tin #4 T i#EB= Int(((380-60)/2)/10.0)+1=17 71.3
<7 £ TixiER= (219.6+199.6)*17/100=71.3 M
#4 BE-hRim #4rh R B E= Int(((380-60)/2)/15.0)+1=11 46.1
<7 th JifkiE R = (219.6+199.6)*11/100=46.1 M
#4 BH-BERE HAR B EHE R =(219.6+199.6)*Int(60/10)/100= 25.15 M 25.1
fEEsTE:

EEETH:(MR1)16-#8 (FH2)X#X
ABREH:(FE1)18-#8 (FH2)X-#X
BB 5E(1)48:8-8* 16
{EERE(2)#E:8- T2

RhREt H:

F 1 hR:(90+80)*2*380/10000=12.92 M2

FERE AR AR O FR:

:152:-(B28) 45*60/10000=0.27
55:2i%:-(G36) 60*60/10000=0.36
%5:3i2:-(B28) 45*60/10000=0.27
KL E/VET:0.90 M2

FERRE BEAR RO BR:

%5:1i£:30.00*16/10000=0.0480
25:2i%:40.00*16/10000=0.0640
%5:3i£:30.00*16/10000=0.0480
LLE/]vEt:0.1600 M2

FEISE AR RO BR:

EIENE 1 (B E)--B28=15*(380-60)/10000=0.48
BN 2(BE)--G36=15*(380-60)/10000=0.48
EIENE 3(HE)--B28=15*(380-60)/10000=0.48
KL E/NET:1.44 M2
B RR RS 12.92-[#F 23 $5]0.90-[#E iR XX $#%]0.16-[#E 5 3 $£]1.44=10.42 M2

RCitH&E:

90*80*380/1000000= 2.736 M3

AT SR

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=68.400 M (68.400 M*3.980/1000= 0.2722 T)

SMAR/INET = 0.5274 T

R/ () = 10.42 M2

R /NEr =2.736 M3

PNA21-01-#&/8: 3F , #4t5%: C5, fIB F55: 5 [X4:+65,Y6:-40] R~: 80 cm * 90 cm , #£5;: 380.0 cm

#8 EH(E14A-—ARE): (380+0)*16/100 60.80
| FH+E (L) (HEHE
[#E#=0])
#4 SV fR- - T iR 5\ E (5 2)= (80+90)*2-8%4+2*13.89=335.8 53.72
E; L+ THEEIE= Int(((380-70)/2)/10.0)+1=16
+TFiE#E K= 335.8%16/100=53.72 M
#4 SN - R 5\ R (5 2)= (80+90)*2-8%4+2*13.89=335.8 36.94
E; rh SR 5B 28= Int(((380-70)/2)/15.0)+1=11
bR fERE R = 335.8%11/100=36.94 M
#4 SN - 5\ (%)= (80+90)*2-8%4+2*13.89=335.8 23.50
E; (Int(70/10))*335.8/100=23.50 M
BHEHR-KFERE | XOKTF)RREGGRHE)= (80-2*[REE]4+2*[135E & $7]13.9)
<7 A *2=199.6 )
Y(EE)ERE(HH4T)= (90-2*[{FEB14+2*[135F € 45]13.9)
*2=219.6
#4 BA5-E T #4 & T i B 8= Int(((380-70)/2)/10.0)+1=16 67.1
< ik K= (199.6+219.6)*16/100=67.1 M
#4 Bh-h g #4rh RiH B EL= Int(((380-70)/2)/15.0)+1=11 46.1
<7 rhRif#E K= (199.6+219.6)*11/100=46.1 M
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#4 BE-REE

HARRZ R R=(199.6+219.6)*Int(70/10)/100= 29.34 M

293

BERGE:
LEFEE:(E1)16-#8 (FH2)X-#X
AREHFER:(HE1)16-#8 (FH2)X-#X
B335 (1)58:8-8*16%
BRRETE:
F 1 hk:(80+90)*2*380/10000=12.92 M2
AR E AR IO
$:158:-(b2) 35*60/10000=0.21
%:2i%:-(B8) 45*60/10000=0.27
%5:3%:-(G3) 50*70/10000=0.35
%:4%:-(G3) 50*70/10000=0.35
LLE/NET:1.18 M2
FERRE AR R IO RR:
:178:55.00*16/10000=0.0880
%:2%:30.00*16/10000=0.0480
%:352:40.00*16/10000=0.0640
%:45%:30.00*16/10000=0.0480
LLE/NET:0.2480 M2
RS E AR RO RR:

E RIS 1(E)-:B8=15%(380-60)/10000=0.48

EEE2(BE)-:G3=15%(380-70)/10000=

LLE/VET:0.95 M2

0.47

AR AEET:12.92-[FE R 3 #5]1.18-[#F iR 32 $10.25- [ 15 38 $%]0.95=10.55 M2

RCEtHE:
80*90*380/1000000= 2.736 M3

Mt HiER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

SMER/INET =04971 T
BAR/INET(E) = 10.55 M2
iR /INE =2.736 M3

PNA21-01-#8f8: 3F , #HL5%: C14, MEF5%:

38 [X8:+173,Y6:-224] R~:90 cm * 80 cm , & 380.0 cm

#8 TH(EE-LEE (380+0.00)*16/100 60.80
r FE) 1 5+ O0RE 2 4084
TE(fEHE[EE=0])
#4 SMEfR- £ T iR SRR EE ()= (90+80)*2-8*4+2*13.89=335.8 53.72
g L+ THEBIE= Int(((380-70)/2)/10.0)+1=16
I T K= 335.816/100=53.72 M
#4 ST R SRR EE ()= (90+80)*2-8*4+2*13.89=335.8 36.94
g th A5 28= Int(((380-70)/2)/15.0)+1=11
th R fEHE K= 335.8*11/100=36.94 M
#4 NER-BRE SRR B (B )= (90+80)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
BHERRE-KTER,E | XOKF)AREEFRIE)= (90-2*[{RERE]4+2*135E E£]13.9)
</ e *2=219.6 ]
Y(EE)EREE(HT)= (80-2*[{R#[B14+2*[135FE E£4]13.9)
*2=199.6
#4 BA5-E T % #4 T iR BE= Int(((380-70)/2)/10.0)+1=16 67.1
</ ETin#ER= (219.6+199.6)*16/100=67.1 M
#4 BEh-pRih #4th R 5 8= Int(((380-70)/2)/15.0)+1=11 46.1
<2 rhRiG#E R = (219.6+199.6)*11/100=46.1 M
#4 BH-RERE HAR B [ K =(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
BERIE:

TR GEXHX ($12)X-#X
ABHIH:(HE1)16-#8 (FH2)X-#X
BHERE(1)MHE:8-T*163
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BhRETE:
FHEHR:(90+80)*2*380/10000=12.92 M2
HREEEMR IR
%:1;:8:-(G15) 50*70/10000=0.35
%:2;8:-(B10) 45*60/10000=0.27
%:358:-(G16) 50*70/10000=0.35
KL E/NVET:0.97 M2

RS R
%:258:40.00*16/10000=0.0640
%:358:30.00*16/10000=0.0480
%:458:40.00*16/10000=0.0640
Ll E/hE0.1760 M2

SRR

EHEE:1(FE SorE ZE):=15%(10-0)/10000=0.02
EREE:2(F SorE %E):=15%(70-0)/10000=0.11
EREE:3(F SorE ZE):=15%(120-0)/10000=0.18

LA E/VEE:0.30 M2

WARAEET:12.92-[FE R 3 $£]0.97-[#F AR 32 $£10.18-[4E 15 38 $£]0.30=11.47 M2

RC:tH&E:
90*80*380/1000000= 2.736 M3

et EAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

$ARR/INET =04971 T
BAR/NEH(E) = 11.47 M2
RN = 2.736 M3

PNA21-01-#&/8: 3F , #1t5%: C25, B RFk:

22 [X5:-85,Y15:+115] R~t: 125 cm * 70 cm , #&: 380.0 cm

#8 FH(E1HE-—AEE): (380+0)*18/100 68.40
| 5+ 1 (Lo) (2
[##%=0])
#4 SMER- £ T 55 R EE ()= (125+70)*2-8*4+2*13.89=385.8 61.72
@ T E= Int(((380-70)/2)/10.0)+1=16
F T K= 385.816/100=61.72 M
#4 SMERR-TP R 5\ iE R EE ()= (125+70)*2-8*4+2*13.89=385.8 42.44
B rh 4 2k= Int(((380-70)/2)/15.0)+1=11
R fE4E K= 385.8%11/100=42.44 M
#4 SNiER-BRE 5\iE R EE ()= (125+70)*2-8*4+2*13.89=385.8 27.00
B (Int(70/10))*385.8/100=27.00 M
BHEHR-KERE | XOKTF)RREFBE)= (125-2" (REE4+2*[135E & )
<7 [EE 13.9)*2=289.6 ]
Y(EE)AREHRE)= (70-2[RERB14+2*[135EE$5]13.9)
*4=359.1
#4 B - LT #4 + T i%E 2= Int(((380-70)/2)/10.0)+1=16 103.8
<2 E T R= (289.6+359.1)*16/100=103.8 M
#4 BE-PRim #4rh IR EL= Int(((380-70)/2)/15.0)+1=11 71.4
<7 ik R = (289.6+359.1)*11/100=71.4 M
#4 B-RERE #ABRF [EHE K =(289.6+359.1)*Int(70/10)/100= 45.41 M 45.4
BERHE:

EREEIH:(R1)14-#8 (FE2)X-#X
ARBHEIH:(FE1)18-#8 (FH2)X-#X
TEERRE(1)40:8-8"14%
BEBE(2)M:8-T4X
BARETE:
F1EhR:(125+70)*2*380/10000=14.82 M2
AR E AR RO RR:
%5:158:-(G40) 50*70/10000=0.35
%:2i8:-(B21) 50*70/10000=0.35
LA E/NVEE:0.70 M2
FERRE AR R A0 B
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% :152:20.00*16/10000=0.0320
%:3i£:70.00*16/10000=0.1120
%:4i%£:40.00*16/10000=0.0640
Ll E/]vE1:0.2080 M2
S E R IO
E 1 (MRE)-:S0=20%(380-16)/10000=0.73
E RS2 (B K )-:G40=15*(380-70)/10000=0.47
E R 3(MRE)-:S0=20%(380-16)/10000=0.73
Ll E/NEH:1.92 M2
*EHJ:‘;%; 151:14.82-[#E R 3 $£]0.70-[#E iR 32 $%10.21-[#£ 15 38 $%]1.92=11.99 M2
RCE
125*70*380/1000000= 3.325 M3
-------------- FECE T 1 S—
T EER:
#4=351.719 M (351.719 M*0.994/1000= 0.3496 T)
#8=68.400 M (68.400 M*3.980/1000= 0.2722 T)
$HAR/INET = 06218 T
RN ETH(E) = 11.99 M2
BB /NG =3.325 M3

PNA21-01-#£f&: 3F , #£L5%: C21, fIE F5%: 52 [X12:-67,Y6:-131] R~1: 90 cm * 80 cm , #%&: 380.0 cm

#8 ERF(E14-—HRE): (380+0)*16/100 60.80
| g B (Lo (B
[#&#=0])
#4 S\ RS- £ T i SR ()= (90+80)*2-8*4+2*13.89=335.8 67.16
@ L+ THE = Int(((380-0)/2)/10.0)+1=20
T K= 335.8%20/100=67.16 M
#4 HME - R SR E ()= (90+80)*2-8*4+2*13.89=335.8 43.65
@ fh R EE 2= Int(((380-0)/2)/15.0)+1=13
R fERE R = 335.813/100=43.65 M
#4 SMER-RE 5\ RE(FHF2)= (90+80)*2-8*4+2*13.89=335.8 0.00
@ (Int(0/10))*335.8/100=0.00 M
BHEBERER-KFER,E | XOKE)EEEGRIE)= (90-2*[{REEB]14+2*[135E &4$7]13.9)
</ (=R *2=219.6 )
Y(EE)AREHRE)= (80-2[REB4+2*[135EE$5]13.9)
*2=199.6
#4 B5- £ T #4_F TR E 8= Int(((380-0)/2)/10.0)+1=20 83.8
</ L TFig#E K= (219.6+199.6)*20/100=83.8 M
#4 B ih-h k% #4rh RIFBIEL= Int(((380-0)/2)/15.0)+1=13 54.5
<7 rh R iR = (219.6+199.6)*13/100=54.5 M
#4 BH-REE HARZ [E R R =(219.6+199.6)*Int(0/10)/100= 0.00 M 0.0
EESTE:

EBAEER(HR1)16-#8 ($B2)X-#X
AR T :(FR1)16-#8 (FH2)X#X
BIE3REE(1)58:8-8*16%
AR &
F48HR:(90+80)*2*380/10000=12.92 M2
FERRE R IR IORR:
Ll _E/NET:0.00 M2
FERRE AR R IORR:
L1 _E/NEH:0.0000 M2
AR E AR R IORR:
1 (E B orEZE):=15%(380-0)/10000=0.57
2 (H BorE ZE):=15%(380-0)/10000=0.57
LLE/NET1.14 M2
EHJ%E%A2.92-[#?5?%3‘5#%]0.00-[#1#&3‘5#&]0.00—[#2 &2 1E]1.14=11.78 M2
RCE&E:
90*80*380/1000000= 2.736 M3
-------------- EIRCE 1 1 -1 —
st EHER:
#4=249.119 M (249.119 M*0.994/1000= 0.2476 T)
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#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
$ARR/INET = 04896 T

BAR/NVET(E) = 11.78 M2

SRR NET = 2.736 M3

PNA21-01-#/8: 3F , #1X58: C32, 1B 5 34 [X6:-90,Y16:-98] R~F: 90 cm * 80 cm , 4¥&: 380.0 cm

#8 TH(EHE-—AEE): (380+0)*16/100 60.80
| g (Lo (4
[##£=0])
#4 S\iER- £ T S\EEE(HT)= (90+80)*2-8*4+2%13.89=335.8 57.08
g T E#BE = Int(((380-60)/2)/10.0)+1=17
i@ E= 335.817/100=57.08 M
#4 SRR3R SNEEE(HT)= (90+80)*2-8*4+2%13.89=335.8 36.94
g rh SR B 2= Int(((380-60)/2)/15.0)+1=11
e K= 335.8*11/100=36.94 M
#4 H\ER-BRE SNEEE(HT)= (90+80)*2-8*4+2%13.89=335.8 20.15
g (Int(60/10))*335.8/100=20.15 M
EMERR-KFER,E | XOKFE)MEEGRIE)= (90-2*[{RERB]4+2*[135EF & $7]13.9)
< A *2=219.6 )
Y(EE)RRE ()= (80-2*[{REE]14+2*[135E & §7]13.9)
*2=199.6
#4 BA5- T ik #4 - T iR S= Int(((380-60)/2)/10.0)+1=17 71.3
</ i@ E= (219.6+199.6)17/100=71.3 M
#4 B 5-rh i #40h SR B= Int(((380-60)/2)/15.0)+1=11 46.1
<7 e = (219.6+199.6)*11/100=46.1 M
#4 Bi-BEE #ABRE EHE=(219.6+199.6)*Int(60/10)/100= 25.15 M 25.1
HEEHR

EEEEH:(HR1)16-#8 (FH2)X#X
AR (FE1)16-#8 ($H2)X-#X
B RE(1)1H:8-8"16%
ERETE:
FH8HR:(90+80)*2*380/10000=12.92 M2
RSB AE IR OB
%5:1i8:-(B28) 45*60/10000=0.27
25:2i8:-(G39) 60*60/10000=0.36
LL_E/NET:0.63 M2
FE MBI AR R 3O B
25:138:30.00*16/10000=0.0480
25:2i8:40.00*16/10000=0.0640
LU E/NEF0.1120 M2
NS E AR R O PR
B 1 (MUK )-:CS=15*(380-16)/10000=0.55
2 (KR )-:B28=15%(380-60)/10000=0.48
LL_E/VER1.03 M2
ﬁm%rﬁé?r:12.92-[*1#%??%]0.63-[&#&3??%]o.1 1[4 48 32$£]1.03=11.15 M2
RCEH&E:
90*80*380/1000000= 2.736 M3

At EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
SMER/INET =04971 T
BAR/NEH(E) = 11.15 M2
R /NET = 2.736 M3

PNA21-01-#£&: 3F , #5085 C4, SIBEFF5%: 6 [X4:+45,Y7:-200] R~t: 80 cm * 90 cm , 45 380.0 cm

#10 EH(E1E-—RE): (380+0)*16/100 60.80
T H+EE(Lg) (%
[#&$#=0])
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SMERS- £ T SMEEE(F )= (80+90)*2-8*4+2+*13.89=335.8 53.72
L+ T #EE= Int((380-70)/2)/10.0)+1=16
T MR = 335.816/100=53.72 M

#4

SRS R sM4E 5 B (F7)= (80+90)*2-8*4+2+13.89=335.8 36.94
th R B #= Int(((380-70)/2)/15.0)+1=11
s 48 & = 335.8°11/100=36.94 M

#4

(Int(70/10))*335.8/100=23.50 M

i%ﬁéiﬁﬁ-zka‘uﬂ,ﬁ XOKFE)ERE(HHAE)= (80-2*[{R#EB]4+2*[135E & $7]13.9)
=G *2=199.6
Y(EE)AREHRE)= (90-2[REE14+2*[135EE$7]13.9)
*2=219.6

BT #4 T 5B %= Int(((380-70)/2)/10.0)+1=16 67.1
LTk E= (199.6+219.6)16/100=67.1 M

#4

8-l #4rh R B EE= Int(((380-70)/2)/15.0)+1=11 46.1
th R ifkiE R = (199.6+219.6)*11/100=46.1 M

#4

BH-BERE #ABRFEHE R =(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3

#4 g o\ A -BR SMERE(H )= (80+90)*2-8*4+2*13.89=335.8 23.50
#4

BERAE
EEEEH:(HR1)16-#8 (FH2)X#X
ABAEH:(HE1)16-#10 ($82)X-#X
1BHEIRE(1)40:10-8*16%

EhRETE:

F 1% KR:(80+90)*2*380/10000=12.92 M2

FERE R RO RR:
25:1i8:-(B16) 45*60/10000=0.27
25:2i8:-(G21) 50*70/10000=0.35
Ll E/NEH0.62 M2

FERRE AR AR O BR:
25:2i8:30.00*16/10000=0.0480
25:318:40.00*16/10000=0.0640
25:438:80.00*16/10000=0.1280
LU E/NEFH0.2400 M2

S E AR AR O BR:
B i1 (AR )-:CS=15%(380-16)/10000=0.55
B i 0 (KR JEE )-:CS=15%(380-16)/10000=0.55
i3 (FRE )-:B16=15%(380-60)/10000=0.48
LLE/NEH1.57 M2

ﬁm%rﬁg?m2.92-[*11%’&?%]0.62-[*1#&&?&]0.24-[& & 22 $#]1.57=10.49 M2

RCE&E:

80*90*380/1000000= 2.736 M3

At EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)
$MER/INET = 0.6436 T
BAR/INET(E) = 10.49 M2
R /NGt = 2.736 M3

PNA21-01-#£&: 3F , #£1L8%: C1, SIEFF5%: 23 [X6:+125,Y1:+85] R~F: 80 cm * 90 cm , #&: 380.0 cm

#8 FH(E1HE-—REE): (380+0)*16/100 60.80
| T+ (Lg)(1EHE
[#&#£=0])
#4 SMERR- £ T HMERE(H )= (80+90)*2-8*4+2*13.89=335.8 53.72
@ + THERE2= Int(((380-70)/2)/10.0)+1=16
+ T K= 335.816/100=53.72 M

AR R HERE 2= Int(((380-70)/2)/15.0)+1=11

#4 @ HME - R SMERE(H )= (80+90)*2-8*4+2*13.89=335.8 36.94
th R fERE K= 335.8*11/100=36.94 M
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#4 SN - S\ R ()= (80+90)*2-8*4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BmEBERR-KER,E XOKFE) R E (G H4E)= (80-2*[{R#B]4+2*[135E & $7]13.9)
<2 B *2=199.6 ]
Y(BE)EERE(H )= (0-2* IR HEB4+2*[1355 E£4]13.9)
*2=219.6
#4 B Tk #4 1 T 85 B 2= Int(((380-70)/2)/10.0)+1=16 67.1
<2 T8 E= (199.6+219.6)*16/100=67.1 M
#4 B-rh R #4th R IHE = Int(((380-70)/2)/15.0)+1=11 46.1
<7 R 48 K = (199.6+219.6)*11/100=46.1 M
#4 BEH-BEE HARE B E=(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
FEEHE

EBA TS (481)16-#8 ($B2)X-#X
ABAEE:(181)16-#8 (M2)X-#X
B335 (1)58:8-8*16%%

BhREHH:

F 1 hfr:(80+90)*2*380/10000=12.92 M2

HEEERAR MO

%:158:-(CG1) 45*70/10000=0.32
%:25%:-(G1) 50*70/10000=0.35
%:35%:-(B1) 45*60/10000=0.27
LLE/VET:0.93 M2

HEMRE AR MR 0 PR

%:15%:45.00*16/10000=0.0720
%:35%:40.00*16/10000=0.0640
%:45%:30.00*16/10000=0.0480
LLE/VET:0.1840 M2

HEAS B AR M O PR

1 (E B orEZE):=15%(455-0)/10000=0.68

TR 2 (BRI )-:G1=15*(130-70)/10000=0.09

L E/NET0.77 M2
WRRABET:12.92-[FE 3 $£]0.93-[#F hR 32 $10.18- [ 15 38 $%]0.77=11.03 M2

RCEH&E:

80*90*380/1000000= 2.736 M3

MAnEt HAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

SMER/INET =04971 T

BAR/NEH(E) = 11.03 M2

B/ =2.736 M3

PNA21-01-#£&: 3F , #5185 C8, SIEFF5%: 15 [X5:+145,Y6:-40] R~F: 80 cm * 90 cm , 485 380.0 cm

#8 T Hh(E1HR-—REB): (380+0)*16/100 60.80
| EH+EE(Lg)(1EE
[#E#=0))
#4 sMERR- £ T i 5V R BE ()= (80+90)*2-8*4+2*13.89=335.8 53.72
@ TR S= Int(((380-70)/2)/10.0)+1=16
+F#E#E K= 335.8%16/100=53.72 M
#4 VAS il RaE S 5\ R EE ()= (80+90)*2-8*4+2*13.89=335.8 36.94
@ rh SR 5B 8= Int(((380-70)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 MR- 55 R BE ()= (80+90)*2-8*4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BHEHR-KFERE | XOKF)RRERHE)= (80-2*[REE]4+2*[135E E$1]13.9)
<7 B[ *2=199.6 i
Y(EE)ERE (4= (90-2*[{FEB14+2* 135 €£40]13.9)
*2=219.6
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#4 B5- £ Tin #4 £ T i#E$= Int(((380-70)/2)/10.0)+1=16 67.1
<7 L TixiER= (199.6+219.6)*16/100=67.1 M
#4 BE-hRim #4rh RiH B EL= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th QR ifkiE R = (199.6+219.6)*11/100=46.1 M
#4 BH-BERE HAR R EHE R =(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
fEEsTE:

LRERTH:(HE1)16-#8 (FH2)X-#X
KRBT :(HH1)16-#8 (FH2)X-#X
BN (1)4:8-8"16%

BhREHH:

F 1 hfr:(80+90)*2*380/10000=12.92 M2

HEEERAR RO

%:158:-(G7) 50*70/10000=0.35
%:25%:-(B7) 45*60/10000=0.27
%:35%:-(B8) 45*60/10000=0.27
LLE/VET:0.89 M2

HEMRE AR MR 0 PR:

%:15%:40.00*16/10000=0.0640
%:25%:30.00*16/10000=0.0480
%:45%:30.00*16/10000=0.0480
LLE/VET:0.1600 M2

RS E R AR MR O PR

TR (FRJE )-:B8=15%(380-60)/10000=0.48
TR 2(BRE )-:S2=15*(380-16)/10000=0.55
TN 3(F HorB ZE):=15%(10-0)/10000=0.02
TE R 4(FRE)-:B7=12%(35-35)/10000=0.00
LLE/NE:1.04 M2
AR AEET:12.92-[FE R X $£]0.89-[#F iR 32 $10.16- [ 15 38 $%]1.04=10.83 M2

RCEH&E:

80*90*380/1000000= 2.736 M3

Mt HAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

SMER/INET =04971 T

BAR/INET(E) = 10.83 M2

B /e =2.736 M3

PNA21-01-#£&: 3F , #£08%: C2, SIEFF5%: 24 [X6:+125,Y3:-85] R~: 80 cm * 90 cm , 485 380.0 cm

#10 T Hh(E1HR-—REB): (380+0)*16/100 60.80
| E B (Lg)(JEE
[#E#=0))
#4 sMER- £ T i SV R EE ()= (80+90)*2-8*4+2*13.89=335.8 53.72
g T E= Int(((380-70)/2)/10.0)+1=16
L+ TiE#ER= 335.8*16/100=53.72 M
#4 SN ERR-h R SV R EE(H )= (80+90)*2-8*4+2*13.89=335.8 36.94
g rh J 45 B 4= Int(((380-70)/2)/15.0)+1=11
rhRfE#E K= 335.8*11/100=36.94 M
#4 SNER-RE SV R EE(H )= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
BHEHR-KERE | XOKPE)MEEF )= (80-2*[{RERE]4+2*[135F E4$7]13.9)
<7 B[ *2=199.6 )
Y(EE)EREE(HB)= (90-2*[{R#[B14+2*[135EE £ £]13.9)
*2=219.6
#4 B5- LT #4_F T iiHE 8= Int(((380-70)/2)/10.0)+1=16 67.1
</ ETiR#ER= (199.6+219.6)*16/100=67.1 M
#4 M- R IR #A4TH R 5EE B= Int(((380-70)/2)/15.0)+1=11 46.1
<2 rh R iEHER = (199.6+219.6)*11/100=46.1 M
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#4 RE-REE HABR T B4R £ =(199.6+219.6)"Int(70/10)/100= 29.34 M 29.3

BERGE:

LEFEH:(#R1)16-# (‘fEZ)X #X

R T 5 (421)16#10 (HA2)X-#X

BHERE(1)4:10-8*1 i
BRRETE:

F 1 hk:(80+90)*2*380/10000=12.92 M2

AR E AR IO

%:15%:-(G1) 50*70/10000=0.35
%:2;%:-(G2) 50*70/10000=0.35
%:338:-(B3) 45*60/10000=0.27
Ll E/NET:0.97 M2
FERRE AR MR A0 B
%£:138:40.00*16/10000=0.0640
%£:338:40.00*16/10000=0.0640
%£:458:30.00*16/10000=0.0480
LL_E/NET:0.1760 M2
RS E AR M0 RR:
1 (B orEZ):=15%(10-0)/10000=0.02
T2 (3 BorBZ2):=15%(130-0)/10000=0.20
LL_E/NE:0.21 M2
ﬁm%rﬁé?m2.92-[*11%’3??&]0.97-[*1#&3??&]0.18-[&;1*“?%]0 .21=11.56 M2
RCEE:
80*90*380/1000000= 2.736 M3
-------------- ATEBERNE
AR Et B R
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)
MAER/NET =0.6436 T
BAR/NVET(E) = 11.56 M2
BB /NGt = 2.736 M3

PNA21-01-#8&: 3F , #£C8%: C1, SIEFF5%: 1 [X3:-235,Y1:+85] R~:80 cm * 90 cm , 45 380.0 cm

#8 ER(E14-—ARE): (380+0)*16/100 60.80
| EH+EE(Lg) (18
[#&#£=0])
#4 SMER- £ T i SR EE(H )= (80+90)*2-8*4+2*13.89=335.8 53.72
g E THEEE= Int(((380-70)/2)/10.0)+1=16
+ TiE#ER= 335.816/100=53.72 M
#4 SMERR-h R SR EE (B )= (80+90)*2-8*4+2*13.89=335.8 36.94
g rh J 45 B 4= Int(((380-70)/2)/15.0)+1=11
rhRfiE#E K= 335.8*11/100=36.94 M
#4 SNER-RE SV R EE(H )= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
BHERRE-KFER,E | XOKF)AEEFRIE)= (80-2*[{RERE]4+2*135E E]13.9)
<2 EM *2=199.6 )
Y(EE)ERE(HTB)= (90-2*[{R#[B14+2*[135EE & £]13.9)
*2=219.6
#4 BA5-E T % #4_F TR 8= Int(((380-70)/2)/10.0)+1=16 67.1
</ ETFin#ER= (199.6+219.6)*16/100=67.1 M
#4 BEh-pRih #4rh RIHEBL= Int(((380-70)/2)/15.0)+1=11 46.1
<2 HhRiFHER = (199.6+219.6)*11/100=46.1 M
#4 BH-RERE HAR B [ #8 K =(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
BERIE

EERE:(1)16-#8 (fH2)X-#X
AR EH:(H1)16-48 (2)X-#X
TR (1)%8:8-8* 16
ERRETE:
F4R:(80+90)*2*380/10000=12.92 M2
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BRI IO RR:
%:158:-(CG1) 45*70/10000=0.32
%:2;58:-(B2) 45*60/10000=0.27
%:358:-(G1) 50*70/10000=0.35
LLE/NET:0.94 M2

FERRE IR IR IR
%:13i%:45.00%16/10000=0.0720
%:2i%:30.00%16/10000=0.0480
%:3i%:40.00%16/10000=0.0640
%:4i%:80.00%16/10000=0.1280
LLE/NEH:0.3120 M2

NS B AR IO PR
RS (R
EERE2(RE

-:B2=15%(380-60)/10000=0.48
-:CS=15*(380-16)/10000=0.55

E I 3(MRUE)-:CS=15%(380-16)/10000=0.55
ERERE 4 SorE ZE):=15%(10-0)/10000=0.02

LLE/NEE:1.59 M2

FERRAEET:12.92-[FEER 3T $£]0.94-[#F iR 32 $10.31-[#E 5 38 $%]1.59=10.09 M2

RC:tH&E:
80*90*380/1000000= 2.736 M3

et EAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

$ARR/INET =04971 T
BAR/NEH(E) = 10.09 M2
RN = 2.736 M3

PNA21-01-#&/8: 3F , #:1t5%: C6, fiEF5%: 12 [X5:+145,Y1:+85] R~F: 80 cm * 90 cm , 45 380.0 cm

#8 FH(E1HE-—AEE): (380+0)*16/100 60.80
| T+ (Lg) (B
[#&#%=0])
#4 S\ AR- £ T iR SERE(H )= (80+90)*2-8*4+2%13.89=335.8 53.72
@ T E= Int(((380-70)/2)/10.0)+1=16
T K= 335.816/100=53.72 M
#4 SMERR-TP R 5\ iE R BE ()= (80+90)*2-8*4+2*13.89=335.8 36.94
@ rh 4 2k= Int(((380-70)/2)/15.0)+1=11
th 5 e K= 335.8*11/100=36.94 M
#4 SNiER-BRE 5\ 5 R BE ()= (80+90)*2-8*4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BHEHmR-KFERE | XOKF)AREFRE)= (80-2 [(REB4+2*[135E & £4]13.9)
<7 B *2=199.6 .
Y(EE)ARE )= (90-2 R B]4+2*[135FE #$7]13.9)
*2=219.6
#4 Bip-LTim #4 £ T ixE28= Int(((380-70)/2)/10.0)+1=16 67.1
<2 E T R= (199.6+219.6)*16/100=67.1 M
#4 BE-PRim #4rh IR EL= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th fifkiE R = (199.6+219.6)*11/100=46.1 M
#4 BH-BERE HAR R[4 K=(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
EESETE:

LEFEEH:(R1)16-#8 (FH2)X-#X
ABHER:(H1)16-48 (#B2)X-#X
BB (1)1:8-8"16%

BARET &
F48HR:(80+90)*2*380/10000=12.92 M2
FERRE R IR IORR:

%5:1i8:-(CG5) 45*70/10000=0.32
25:2i8:-(B1) 45*60/10000=0.27
%5:3i8:-(G5) 50*70/10000=0.35
%5:4i8:-(B2) 45*60/10000=0.27
KL E/NEE1.21 M2
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FERRE IR R 3O R
%:1i%:45.00%16/10000=0.0720
%:2i%:30.00%16/10000=0.0480
%:3i%:40.00%16/10000=0.0640
%:4%:30.00%16/10000=0.0480
LL_E/VEH:0.2320 M2

NS B RE AR IO R
E RS 1 (FRE)-:B2=15%(380-60)/10000=0.48
E RS 2(FRE)-:B1=15%(380-60)/10000=0.48
LLE/NEF:0.96 M2

*EH%%E:"JF 12.92-[FF R HE]1.21-[FE AR X $£]0.23-[#F#E 3 $£]0.96=10.52 M2
RCE
80*90*380/1000000= 2.736 M3
-------------- R R 0] N —
st EHR:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
MAER/NET = 04971 T
BAR/NEH(E) = 10.52 M2
R /ET = 2.736 M3

PNA21-01-#&/8: 3F , #4t5%: C2, i@ F5%: 2 [X3:-235,Y3:-85] R~: 80 cm * 90 cm , #£5: 380.0 cm

#10 F (5 14R-—HEB): (380+0)*16/100 60.80
| T+ EE(Lg) (B
[#&#%=0])
#4 SMER- L T i SR EE ()= (80+90)*2-8*4+2*13.89=335.8 53.72
@ T = Int(((380-70)/2)/10.0)+1=16
T K= 335.816/100=53.72 M
#4 SN - R 5\ (F5 %)= (80+90)*2-8%4+2*13.89=335.8 36.94
@ rh S 8k= Int(((380-70)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 SMERR-BRE 5\ iE R BE(F72)= (80+90)*2-8*4+2%13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BHEHREKTEME | XOKF)MEE(FHRIE)= (80-2 [{REE]4+2*[135E & £]13.9)
</ B[ *2=199.6 .
Y(EE)ARE )= (90-2 R #B]4+2*[135FE #$7]13.9)
*2=219.6
#4 B - £ T #4_F TR E 8= Int(((380-70)/2)/10.0)+1=16 67.1
<2 F i R= (199.6+219.6)*16/100=67.1 M
#4 BE-PRim #4rh IR B EL= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th JifiE R = (199.6+219.6)*11/100=46.1 M
#4 BH-BERE HAR R [E 8K =(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
BERHE:

EREATH:(MR1)16-#8 (FA2)X-#X

ABEERF:(FE1)16-#10 ($H2)X-#X

B (1)48:10-8*16%

EhRETE:

F 4 hR:(80+90)*2*380/10000=12.92 M2

FERRE R IR IORR:
%:158:-(G1) 50*70/10000=0.35
%:2;8:-(B4) 45*60/10000=0.27
%:3i%:-(G2) 50*70/10000=0.35
LLE/NVEE0.97 M2

FERRE AR R IORR:
%:1i£:40.00*16/10000=0.0640
%:2i%:30.00*16/10000=0.0480
%:3i%:40.00*16/10000=0.0640
%:4i£:80.00*16/10000=0.1280
LL_E/INEH:0.3040 M2

AR E AR RO RR:
EHEIE 1 (BRE)-:G1=15%(380-70)/10000=0.47
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E 2k E)-:CS=15*(380-16)/10000=0.55
E I 3(MRUE)-:CS=15%*(380-16)/10000=0.55
E RS 4(FRE)-:B4=15%(380-60)/10000=0.48
LLE/NET:2.04 M2
$§Hls‘z+{h§:§+:12.92-[&*%%&?&]0.97-[&#&&*#%]0.30-[*1#%3«*?%]2.04:9.61 M2
RCEt&:
80*90%380/1000000= 2.736 M3

At EHR:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)
$ARR/INET = 0.6436 T
BAR/MVEH(E) = 9.61 M2
R /NET = 2.736 M3

PNA21-01-#&/8: 3F , #4t5%: C7, LB F5%: 13 [X5:+145,Y3:-85] R~: 80 cm * 90 cm , #£5: 380.0 cm

#8 ERF(E14-—HRE): (380+0)*18/100 68.40
| T Hr -+ (Lg)(HEHE
[#&#=0])
#4 SMER-L T ik 5\ RE ()= (80+90)*2-8*4+2*13.89=335.8 53.72
@ T E= Int(((380-70)/2)/10.0)+1=16
T K= 335.8%16/100=53.72 M
#4 SMERR-h R S\ B (4)= (80+90)*2-8*4+2*13.89=335.8 36.94
@ R EE 2= Int(((380-70)/2)/15.0)+1=11
R iERE R = 335.8*11/100=36.94 M
#4 SMER-RE 5\ R E ()= (80+90)*2-8*4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BHEFER-KTERE | XOKFE)AEEHGRE)= (80-2*[{RERB]14+2*[135E E$7]13.9)
</ EM[ *2=199.6 ]
Y(EE)ERE(HHBAE)= (90-2* [{R#[B14+2*[135FE & £]13.9)
*2=219.6
#4 Bip-LTim #4 £ T iHE28= Int(((380-70)/2)/10.0)+1=16 67.1
<7 Lt TFig#E K= (199.6+219.6)*16/100=67.1 M
#4 BE-PRim #4rh IR EIEL= Int(((380-70)/2)/15.0)+1=11 46.1
<7 PR iR = (199.6+219.6)*11/100=46.1 M
#4 BH-BERE HAR R[4 K =(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
BESTE:

EREEEIH:(R1)16-#8 (FH2)X-#X

ABHIH:(FE1)18-#8 (FH2)X-#X

RS E(1)40:8-8"16%

BEBE(2)M:8-T2%

ARG E:

F 12 hR:(80+90)*2*380/10000=12.92 M2

AR E AR RO RR:
:158:-(G5) 50*70/10000=0.35
5:2i%:-(B3) 45*60/10000=0.27
%5:3%:-(G6) 50*70/10000=0.35
%:4;8:-(B4) 45*60/10000=0.27
LLE/MEE:1.24 M2

FERRE AR R A0 B
%:178:40.00*16/10000=0.0640
££:2%:30.00*16/10000=0.0480
%:378:40.00*16/10000=0.0640
%:4%:30.00*16/10000=0.0480
LLE/VEE:0.2240 M2

NS E AR R A0 B
BN 1 (B E)-:B4=15%(380-60)/10000=0.48
B 2(E)-:B3=15%(380-60)/10000=0.48

Ll _E/VET:0.96 M2
ﬁm_%rfg?m 2.92-[#F R HE]1.24-[FE IR 33 $£]0.22-[#F 15 32 $£]0.96=10.50 M2
RCET&:
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80*90*380/1000000= 2.736 M3

Mt EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=68.400 M (68.400 M*3.980/1000= 0.2722 T)
$ARR/INET = 05274 T
HBRR/NET(E) = 10.50 M2
SRR /NET = 2.736 M3

PNA21-01-#£&: 3F , #£X5%: C7, MB35k 14 [X5:+145,Y4:+245] R~t: 80 cm * 90 cm, #£5: 380.0 cm

#8 FH(FE148-—HRE): (380+0)*18/100 68.40
| g (Lo (B
[#&#%=0])
#4 SV f5- £ T i SRR EE(HT2)= (80+90)*2-8*4+2*13.89=335.8 53.72
g L+ THEEI = Int(((380-70)/2)/10.0)+1=16
T K= 335.8%16/100=53.72 M
#4 SME - R SV 45E R BE (%)= (80+90)*2-8*4+2*13.89=335.8 36.94
g o R FEEBR= Int(((380-70)/2)/15.0)+1=11
th iR R = 335.8*11/100=36.94 M
#4 SMERR-RE SV4i5E K BE (5 2)= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
EMEBERR-KFR,E | XOKE)MEEGRIE)= (80-2*[{RERB]4+2*[135EF &$7]13.9)
<2 (4G *2=199.6 )
Y(EE)RRE ()= (90-2*[{REE]14+2*[135E & §7]13.9)
*2=219.6
#4 - F Tk #4 - Ti%E = Int(((380-70)/2)/10.0)+1=16 67.1
< FTFik#E K= (199.6+219.6)*16/100=67.1 M
#4 B& 7 -th R b #4rh IR B E= Int(((380-70)/2)/15.0)+1=11 46.1
<7 iR = (199.6+219.6)*11/100=46.1 M
#4 BH-BRERE HAR B [EHEK=(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
BERTE:

EEAEEH(HR1)16-#8 (H2)X-#X
ABHIH:(HB1)18-#8 (fH2)X-#X
B3R5 (1)70:8-8*16%
B85 (2)4:8-T2%
EARETE:
F4#R:(80+90)*2*380/10000=12.92 M2
HRE AR MO
%:1i%:-(G6) 50*70/10000=0.35
%:2i%:-(B5) 45*60/10000=0.27
%:3i8:-(G7) 50*70/10000=0.35
%:4;%:-(B6) 45*60/10000=0.27
KL E/NET:1.24 M2
FERRE AR R A0 R
%:1i£:40.00*16/10000=0.0640
%5:2i£:30.00*16/10000=0.0480
%:3i2:40.00*16/10000=0.0640
%:4i£:30.00*16/10000=0.0480
KL E/NET:0.2240 M2
FENEE AR kR A0 R
1 (BE)-:B6=15%(380-60)/10000=0.48
2 (K )-:B5=15%(380-60)/10000=0.48
T3 (AR E )-:S2=12*(35-16)/10000=0.02
KL E/VET:0.98 M2
Em%r.ﬁg?m 2.92-[#E R HE]1 . 24-[FE AR 3T $£]0.22-[#E 15 32 $£]0.98=10.47 M2
RCETH&E:
80*90*380/1000000= 2.736 M3

MEETEER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=68.400 M (68.400 M*3.980/1000= 0.2722 T)
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SRR /NET = 0.5274 T
BAR/NET(E) = 10.47 M2
SRR /NET = 2.736 M3

PNA21-01-4&8: 3F , 4 X85 C2, [1BFFaE: 3 [X3:-235,Y4:+245] R~t: 80 cm * 90 cm , 4 5: 380.0 cm

#10 EHEE1HE-—HRE): (380+0)*16/100 60.80
| g5+ 1 (Lo) (2
[##%=0])
#4 SN RS- £ T i SR EE(H )= (80+90)*2-8*4+2*13.89=335.8 53.72
g | FHEEB4= Int(((380-70)/2)/10.0)+1=16
T K= 335.816/100=53.72 M
#4 SMERR-h R SR EE (5 72)= (80+90)*2-8*4+2*13.89=335.8 36.94
g rh 5 B8= Int(((380-70)/2)/15.0)+1=11
rh R E e K= 335.8*11/100=36.94 M
#4 SMER-RE SR EE (5 72)= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
EMEBERR-KFER,E | XOKE)MEEGRIE)= (80-2*[{RERB]4+2*[135EF &$7]13.9)
<7 B *2=199.6 .
Y(EE)REE(HA )= (90-2*[{RE[E]14+2*[135E & £1]13.9)
*2=219.6
#4 Bi5- g #4_F T B 8= Int(((380-70)/2)/10.0)+1=16 67.1
</ F TR R= (199.6+219.6)*16/100=67.1 M
#4 Bih-ch s #4 th RIHEB= Int(((380-70)/2)/15.0)+1=11 46.1
<7 L% R = (199.6+219.6)*11/100=46.1 M
#4 BH-BREE #ABRZ E 1R =(199.6+219.6)*Int(70/10)/100= 29.34 M 29.3
EESTE

LR (H1)16-#8 (#2)XHX
REHEEE(11)16-#10 (HI2)X-HX
BRI (1)%8:10-8*16%

EhRETE:
F#EhR:(80+90)*2*380/10000=12.92 M2
AR E AR RO RR:

:158:-(G2) 50*70/10000=0.35
%:2i%:-(B6) 45*60/10000=0.27
%:3%:-(G3) 50*70/10000=0.35
KL E/NEE:0.97 M2
FERRE B AR R A0 B
%:178:40.00*16/10000=0.0640
££:2%:30.00*16/10000=0.0480
%:3i8:40.00*16/10000=0.0640
%:45%:80.00*16/10000=0.1280
LA E/NET:0.3040 M2
AN E AR R A0 B
EEE (R
EEE (R

EEE AR E

:B6=15%(380-60)/10000=0.48
3=15%(380-70)/10000=0.47

S$=15*(380-16)/10000=0.55

)-
)-:G
EIENE 3(MUE)-:CS=15*(380-16)/10000=0.55
)-:C
)-

E R 5(RE)-:G2=15%(380-70)/10000=0.47

LLE/NVET:2.50 M2

AR AEET:12.92- [ 3 $£]0.97-[#F i 32 $]0. 30-[#1 45 32 $%]2.50=9.14 M2

RCEHE:
80*90*380/1000000= 2.736 M3

MArEt HAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)

$MER/INET = 0.6436 T
BAR/NEH(E) = 9.14 M2
R /NGt = 2.736 M3
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PNA21-01-t8/8: 3F , #1tiR: C12, ERFR:

25 [X6:+108,Y5:-248] R~F: 128 cm * 80 cm, #¥&: 380.0 cm

#8 ER(E1A-—ARRE): (380+0)*22/100 83.60
| TR (L)
[#E$#=0])
#4 SV R- £ T i SR E ()= (128+80)*2-8*4+2%13.89=411.8 65.88
g L+ TEE 2= Int(((380-70)/2)/10.0)+1=16
ETFiEEE= 411.8*16/100=65.88 M
#4 SME - R SR E ()= (128+80)*2-8*4+2%13.89=411.8 45.30
g rh g 45 Bl 4= Int(((380-70)/2)/15.0)+1=11
P RfERERE= 411.8%11/100=45.30 M
#4 SMER- B SR E ()= (128+80)*2-8*4+2%13.89=411.8 28.82
g (Int(70/10))*411.8/100=28.82 M
EHEHR-KFERE | XOKTF)AREGBE)= (128-2" [REE]4+2*[135E E )
<7 B 13.9)*2=295.6 _
Y(EE)E R E(HHBAE)= (80-2*[{RH#[B14+2*[135FE & £4]13.9)
*4=399.1
#4 B5- LT #4 & T imE 8= Int(((380-70)/2)/10.0)+1=16 111.1
<7 I FiffaR= (295.6+399.1)*16/100=111.1 M
#4 SRHR-P R #4th LI B= Int(((380-70)/2)/15.0)+1=11 76.4
<7 rhRif#E R = (295.6+399.1)*11/100=76.4 M
#4 Bm-RERE HAR B EHE R =(295.6+399.1)*Int(70/10)/100= 48.63 M 48.6

s R

TR (R1)22-#8 (FH2)X-#X
ARBHIH:(HR1)22-#8 (FH2)X-#X
1EERE(1)4:8-8"22%

BT E:

FHEHR:(128+80)*2*380/10000=15.81 M2

HEEEAR RO

%:1;:8:-(G2) 50*70/10000=0.35
%:2;8:-(G9) 50*70/10000=0.35
%:358:-(B5) 45*60/10000=0.27
L E/NET:0.97 M2

HEMREEAR MR O BR:

%:1i%:30.00%16/10000=0.0480
%:3i%:30.00%16/10000=0.0480
%:4i%:77.50%16/10000=0.1240
LL_E/VEH:0.2200 M2

RS E AR RO PR

EHEE:1 (B E)-:G2=15%(10-10)/10000=0.00
E RS2 (B E)-:G9=15%(10-10)/10000=0.00
LA E/VEE:0.00 M2
¥EhRAEET:15.81-[FEER 3T $£]0.97-[#F iR 32 $10.22-[#1 15 38 $%]0.00=14.62 M2

RCEE:

128*80*380/1000000= 3.891 M3
-------------- FHREER/DNE e

et EAER:

#4=376.199 M (376.199 M*0.994/1000= 0.3739 T)
#8=83.600 M (83.600 M*3.980/1000= 0.3327 T)

$ArR/NET =0.7067 T

BAR/NET(E) = 14.62 M2

BT /NGt = 3.891 M3
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